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”strong=”7535|��� x-morph=”OSHM:HTa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.0.0” ”strong=”l/905|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/5046|��������/�� x-morph=”OSHM:HR/Vhc”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
17 ”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.1.0”
� ”strong=”2088|���� x-morph=”OSHM:HPdxms” ”strong=”1696|���������
x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.2.1” ”strong=”c/2088|����/��
x-morph=”OSHM:HC/Pdxms” x-cantillationLevel=”1.2.0” ”strong=”935|�����
x-morph=”OSHM:HVqp3ms” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2” ”strong=”3778|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.1” strong=”7760|������� a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.1.0” � ”strong=”7969|���������� x-morph=”OSHM:HAcmsa”
strong=”7218|��������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
”strong=”c/6584|������������/��� x-morph=”OSHM:HC/Vqw3mp” strong=”5921|���
a” x-morph=”OSHM:HR”�����������/���|strong=”d/1581” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1.0” ”strong=”c/3947|�/����������/�� x-morph=”OSHM:HC/Vqw3mp/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”5221|�������
x-morph=”OSHM:HVhp3cp” ”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”c/4422|�/�����������/��
x-morph=”OSHM:HC/VNw1cs/Sh” ”strong=”7535|��� x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0.0” ”strong=”l/905|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”l/5046|��������/��
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x-morph=”OSHM:HR/Vhc” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 18 ”strong=”5704|���� x-morph=”OSHM:HR” x-
cantillationLevel=”1.1.0” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
”strong=”1696|��������� x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.1”
”strong=”c/2088|����/�� x-morph=”OSHM:HC/Pdxms” x-cantillationLevel=”1.0”
”strong=”935|����� x-morph=”OSHM:HVqp3ms” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” strong=”1121|��/�������
a” x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”c/1323|��/���������/��
x-morph=”OSHM:HC/Ncfpc/Sp2ms” ”strong=”398|���������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0.1.0” ”strong=”c/8354|��������/�� x-morph=”OSHM:HC/Vqrmpa”
”strong=”3196|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
”strong=”251|����/����� x-morph=”OSHM:HNcmsc/Sp3mp” ”strong=”d/1060|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 19 ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”7307|������ x-morph=”OSHM:HNcbsa”
strong=”1419|���������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1.2.1”
”strong=”935|������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.1.2.0”
� ”strong=”m/5676|������/�� x-morph=”OSHM:HR/Ncmsc” strong=”d/4057|����������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2” ”strong=”c/5060|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1” ”strong=”b/702|���������/���
x-morph=”OSHM:HR/Acfsa” x-cantillationLevel=”1.1.0” ”strong=”6438|���������
x-morph=”OSHM:HNcfpc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”c/5307|��������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”5921|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”c/4191|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1” ”strong=”c/4422|�/�����������/��
x-morph=”OSHM:HC/VNw1cs/Sh” ”strong=”7535|��� x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0.0” ”strong=”l/905|�/������/��
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”l/5046|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 20 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/7167|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”��/�������|strong=”4598” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/1494|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/5307|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”776|�/������� x-morph=”OSHM:HNcbsa/Sd”
x-cantillationLevel=”0.0” ”strong=”c/7812|�������������/�� x-morph=”OSHM:HC/Vtw3ms”
x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”6174|������ x-morph=”OSHM:HAamsa” ”strong=”3318|����
x-morph=”OSHM:HVqp1cs” x-wType=”x-ketiv” 3 ”strong=”m/990|�������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs”

3+ ”strong=”3318|������������� x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1.2.1.0”
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x-cantillationLevel=”1.2.1” ”strong=”c/6174|������/�� x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”1.2.0” ”strong=”7725|�������� x-morph=”OSHM:HVqi1cs”
”strong=”8033|�/������ x-morph=”OSHM:HD/Sd” x-cantillationLevel=”1.2”
4 BHS has been faithful to the Leningrad Codex where there might be a question
of the validity of the form andwe keep the same form as BHS. ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3068|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0” ”strong=”3947|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1” ”strong=”1961|������ x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0.0” ”strong=”8034|����� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1288|��������� x-morph=”OSHM:HVPsmsa” x-cantillationLevel=”0”�
22 ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.0” ”strong=”3808|��� x-
morph=”OSHM:HTn”�������|strong=”2398” x-morph=”OSHM:HVqp3ms”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”5414”
x-morph=”OSHM:HVqp3ms” ”strong=”8604|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”l/430|��������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� �2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/3117|������/��

x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2” ”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0” strong=”1121|�������

a” x-morph=”OSHM:HNcmpc” ”strong=”d/430|���������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”l/3320|�����������/�� x-morph=”OSHM:HR/Vtc”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1571|���� x-morph=”OSHM:HD”��������/���|strong=”d/7854”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”b/8432|�/�����/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”l/3320|�����������/��
x-morph=”OSHM:HR/Vtc” x-cantillationLevel=”0.0” strong=”5921|��� a”
x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/7854”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”335|����
x-morph=”OSHM:HTi” ”strong=”m/2088|�����/�� x-morph=”OSHM:HR/Pdxms”
x-cantillationLevel=”1.0” ”strong=”935|������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/7854|��������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2” strong=”m/7751|������/�� a” x-morph=”OSHM:HR/Vqc”
”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
41
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”strong=”c/m/1980|������������/��/�� x-morph=”OSHM:HC/R/Vtc”
x-cantillationLevel=”0.0” ”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/7854”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” strong=”i/7760|���������/��
a” x-morph=”OSHM:HTi/Vqp2ms” strong=”3820|���/����� a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�/���������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”347|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”3644|���/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0.1.0” ”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1.0.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”8535|����� x-morph=”OSHM:HAamsa” ”strong=”c/3477|�������/��
x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.0.0” ”strong=”3373|������
x-morph=”OSHM:HAamsc” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”c/5493|����/�� x-morph=”OSHM:HC/Vqrmsa”
strong=”m/7451|����/�� b” x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”1”
”strong=”c/5750|�����/�����/�� x-morph=”OSHM:HC/D/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”2388|��������� x-morph=”OSHM:HVhrmsa” ”strong=”b/8538|��/�������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/5496|���/���������/��
x-morph=”OSHM:HC/Vhw2ms/Sp1cs” ”strong=”b|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/1104|��/�������/�� x-morph=”OSHM:HR/Vpc/Sp3ms”
”strong=”2600|������� x-morph=”OSHM:HD” x-cantillationLevel=”0”�
4 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/7854|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1” ”strong=”5785|����� x-morph=”OSHM:HNcmsa”
”strong=”1157|������ x-morph=”OSHM:HR”������|strong=”5785” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.1” ”strong=”c/3605|����/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”l/376|������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”5414|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0” ”strong=”1157|������� x-morph=”OSHM:HR”
”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0”�
5 ”strong=”199|������� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”7971|�������� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”3027|���/����� x-morph=”OSHM:HNcbsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/5060|����/�� x-morph=”OSHM:HC/Vqv2ms”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”6106” x-
morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”��/���������|strong=”1320” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”413|��� x-morph=”OSHM:HR”��/��������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”1288|���/���������
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x-morph=”OSHM:HVpi3ms/Sp2ms” x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/7854”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”2005|��/�����
x-morph=”OSHM:HTj/Sp3ms” ”strong=”b/3027|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”389|����� x-morph=”OSHM:HTa” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��/��������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp3ms” ”strong=”8104|������� x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0”� 7 ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”d/7854|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”m/854|����/�� x-morph=”OSHM:HR/R”
x-cantillationLevel=”1.0” ”strong=”6440|������� x-morph=”OSHM:HNcbpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/5221|������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”347” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”b/7822|��������/��� x-morph=”OSHM:HR/Ncmsa”
strong=”7451|���� a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1”
”strong=”m/3709|�����/�� x-morph=”OSHM:HR/Ncfsc” ”strong=”7272|��/������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”5704|��
x-morph=”OSHM:HR” x-wType=”x-ketiv” 5 ”strong=”6936|��/��������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 8 ”strong=”c/3947|���������/��
x-morph=”OSHM:HC/Vqw3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
”strong=”2789|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”l/1623|�����������/�� x-morph=”OSHM:HR/Vtc” x-cantillationLevel=”1.0”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.0”
”strong=”3427|������� x-morph=”OSHM:HVqrmsa” ”strong=”b/8432|�����/���
x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/665” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 9 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”5750|���/���� x-morph=”OSHM:HD/Sp2ms” x-cantillationLevel=”1.0”
”strong=”2388|��������� x-morph=”OSHM:HVhrmsa” ”strong=”b/8538|��/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp2ms” x-cantillationLevel=”1” ”strong=”1288|��������
x-morph=”OSHM:HVpv2ms” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”c/4191|����/�� x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2.1”
”strong=”k/1696|�������/��� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.2.0.0”
”strong=”259|������ x-morph=”OSHM:HAcfsa” ”strong=”d/5036|����������/��
x-morph=”OSHM:HTd/Aafpa” x-cantillationLevel=”1.2.0” ”strong=”1696|������������
x-morph=”OSHM:HVpi2fs” x-cantillationLevel=”1.2” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/2896
b” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.1.1” ”strong=”6901|���������
5+ ”strong=”c/5704|����/���� x-morph=”OSHM:HC/R”
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x-morph=”OSHM:HVpi1cp” x-cantillationLevel=”1.1.0” ”strong=”m/854|����/��
x-morph=”OSHM:HR/R” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����/���|strong=”d/7451
b” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”6901|��������� x-morph=”OSHM:HVpi1cp”
x-cantillationLevel=”1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”0.0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”2398” x-morph=”OSHM:HVqp3ms”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”b/8193|�/���������/��� x-morph=”OSHM:HR/Ncfdc/Sp3ms”
x-cantillationLevel=”0”� � 11 ”strong=”c/8085|������������/��� x-
morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.3.1.1” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” x-cantillationLevel=”1.3.1.0” � ”strong=”7453|������
x-morph=”OSHM:HNcmpc” ”strong=”347|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.3.1” ”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/7451 c” x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.3.0”
”strong=”d/935|�������/�� x-morph=”OSHM:HTd/Vqp3fs” strong=”5921|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.3” ”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.2.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”m/4725|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”464|��������� x-morph=”OSHM:HNp”
”strong=”d/8489|����������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.0”
”strong=”c/1085|���������/�� x-morph=”OSHM:HC/Np” ”strong=”d/7747|���������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1” ”strong=”c/6691|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0” ”strong=”d/5284|������������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” ”strong=”c/3259|������������/��
x-morph=”OSHM:HC/VNw3mp” strong=”3162|��������� b” x-morph=”OSHM:HD”
x-cantillationLevel=”0.1” ”strong=”l/935|�����/�� x-morph=”OSHM:HR/Vqc”
”strong=”l/5110|�����/�� x-morph=”OSHM:HR/Vqc”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/l/5162|��/������/��/���
x-morph=”OSHM:HC/R/Vpc/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”c/5375|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”����/�������|strong=”5869
a” x-morph=”OSHM:HNcbdc/Sp3mp” ”strong=”m/7350|�������/�� x-morph=”OSHM:HR/Aamsa”
x-cantillationLevel=”1.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”5234|���/��������� a” x-morph=”OSHM:HVhp3cp/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”6963|�/������ a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0”
”strong=”c/1058|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1”
”strong=”c/7167|�����������/��� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”4598|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”c/2236|�����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”6083|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”����/��������|strong=”7218 a” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”d/8064|�/�����������/�� x-morph=”OSHM:HTd/Ncmpa/Sd”
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x-cantillationLevel=”0”� 13 ”strong=”c/3427|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”854|���/���� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1”
”strong=”7651|��������� x-morph=”OSHM:HAcmsc” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”c/7651|���������/��
x-morph=”OSHM:HC/Acmsc” ”strong=”3915|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/369|����/�� x-morph=”OSHM:HC/Tn”��������|strong=”1696”
x-morph=”OSHM:HVqrmsa” ”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.2.0” ”strong=”1697|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7200|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”1431” x-morph=”OSHM:HVqp3ms”
”strong=”d/3511|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”0”�3 strong=”310|������� a” x-morph=”OSHM:HR”�����|strong=”3651

c” x-morph=”OSHM:HD” x-cantillationLevel=”0.1.1” strong=”6605|�������
a” x-morph=”OSHM:HVqp3ms” ”strong=”347|�������� x-morph=”OSHM:HNp”

x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”���/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/7043|���������/��
x-morph=”OSHM:HC/Vpw3ms” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��/������|strong=”3117” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� � 2 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0”�
3 ”strong=”6|������� x-morph=”OSHM:HVqi3ms” ”strong=”3117|�����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” 6 We read one or more
accents in L differently than BHS. Often this notation indicates a typographi-
cal error in BHS. ”strong=”3205|��������� x-morph=”OSHM:HVNi1cs”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/d/3915|���������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”559|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”2029|������ x-morph=”OSHM:HVPp3ms” ”strong=”1397|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 4 ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”2.0” ”strong=”1961|������� x-morph=”OSHM:HVqj3ms”
”strong=”2822|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”2”
”strong=”408|���� x-morph=”OSHM:HTn”���/�����������|strong=”1875”
x-morph=”OSHM:HVqj3ms/Sp3ms” ”strong=”433|��������� x-morph=”OSHM:HNcmsa”
”strong=”m/4605|�������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”1”
”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”3313”
x-morph=”OSHM:HVhj3fs” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”5105|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
5 strong=”1350|���/��������� a” x-morph=”OSHM:HVqi3mp/Sp3ms”
x-cantillationLevel=”1.0.0” ”strong=”2822|�������� x-morph=”OSHM:HNcmsa”
6c
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”strong=”c/6757|���������/��� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”7931|���������� x-morph=”OSHM:HVqi3fs”�/�������|strong=”5921
a” x-morph=”OSHM:HR/Sp3ms” ”strong=”6053|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”1204|���/���������� x-morph=”OSHM:HVpi3mp/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3650|������������� x-morph=”OSHM:HNcmpc”
”strong=”3117|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
6 ”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”2.0” ”strong=”3947|����/��������
x-morph=”OSHM:HVqi3ms/Sp3ms” ”strong=”652|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”2” ”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”2302”
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”b/4557|���������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3391|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”408|��� x-morph=”OSHM:HTn”�������|strong=”935” x-morph=”OSHM:HVqj3ms”
x-cantillationLevel=”0”� 7 ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/1931|����/���
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.0” ”strong=”1961|������
x-morph=”OSHM:HVqj3ms” ”strong=”1565|��������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”408|��� x-morph=”OSHM:HTn”��������|strong=”935”
x-morph=”OSHM:HVqj3fs” ”strong=”7445|�������� x-morph=”OSHM:HNcfsa”
”strong=”b|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
8 strong=”5344|���/�������� a” x-morph=”OSHM:HVqi3mp/Sp3ms” ”strong=”779|�������
x-morph=”OSHM:HVqrmpc”������|strong=”3117” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”d/6264|����������/��� x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”0.0” ”strong=”5782|������ x-morph=”OSHM:HVoc”
”strong=”3882|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
9 ”strong=”2821|����������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”2.0”
”strong=”3556|���������� x-morph=”OSHM:HNcmpc” ”strong=”5399|��/���������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”2” strong=”6960|�����
a” x-morph=”OSHM:HVpi3ms”�����/���|strong=”l/216” x-morph=”OSHM:HR/Ncbsa”
”strong=”c/369|������/�� x-morph=”OSHM:HC/Tn” x-cantillationLevel=”1”
”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”7200”
x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”0.0” ”strong=”b/6079|����������/���
x-morph=”OSHM:HR/Ncmpc”��������|strong=”7837” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 10 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5462|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” strong=”1817|��������� c” x-morph=”OSHM:HNcfdc”
”strong=”990|�/������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/5641|����������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”5999|�������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” strong=”m/5869|�/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp1cs” x-cantillationLevel=”0”� 11 ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” ”strong=”3808|����� x-morph=”OSHM:HTn” ”strong=”m/7358|������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”4191|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1” ”strong=”m/990|�������/�� x-morph=”OSHM:HR/Ncfsa”
”strong=”3318|��������� x-morph=”OSHM:HVqp1cs” ”strong=”c/1478|��������/��
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x-morph=”OSHM:HC/Vqi1cs” x-cantillationLevel=”0”� 12 ”strong=”4069|���������
x-morph=”OSHM:HTi” x-cantillationLevel=”1.0” ”strong=”6923|���/���������
x-morph=”OSHM:HVpp3cp/Sp1cs” ”strong=”1290|����������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”1” ”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”������������|strong=”7699
a” x-morph=”OSHM:HNcmda” x-cantillationLevel=”0.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3243|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 13 strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”6258”
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”7901|������������
x-morph=”OSHM:HVqp1cs” ”strong=”c/8252|����������/�� x-morph=”OSHM:HC/Vqi1cs”
x-cantillationLevel=”1” ”strong=”3462|������������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.1” strong=”227|���� a” x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
� ”strong=”5117|��������� x-morph=”OSHM:HVqi3ms” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 14 strong=”5973|���
a” x-morph=”OSHM:HR”����������|strong=”4428” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”c/3289|��������/�� x-morph=”OSHM:HC/Vqrmpc”
”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1”
”strong=”d/1129|��������/�� x-morph=”OSHM:HTd/Vqrmpa” ”strong=”2723|���������
x-morph=”OSHM:HNcfpa” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 15 strong=”176|���� a” x-morph=”OSHM:HC”
strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”8269” x-
morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”d/4390|�����������/��� x-morph=”OSHM:HTd/Vprmpa”
strong=”1004|����/������� b” x-morph=”OSHM:HNcmpc/Sp3mp” ”strong=”3701|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 16 strong=”176|����
a” x-morph=”OSHM:HC” 7 We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”k/5309|������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”2934|������� x-morph=”OSHM:HVqsmsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1” ”strong=”k/5768|���������/����
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”7200” x-morph=”OSHM:HVqp3cp”
”strong=”216|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
17 ”strong=”8033|����� x-morph=”OSHM:HD” ”strong=”7563|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0” ”strong=”2308|��������
x-morph=”OSHM:HVqp3cp” ”strong=”7267|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/8033|�����/�� x-morph=”OSHM:HC/D”
”strong=”5117|���������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0”
”strong=”3019|��������� x-morph=”OSHM:HAampc” strong=”3581|�����
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 18 strong=”3162|������
a” x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”615|����������
x-morph=”OSHM:HNcmpa” ”strong=”7599|����������� x-morph=”OSHM:HVkp3cp”
x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”8085|����������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” strong=”6963|�����
7c
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a” x-morph=”OSHM:HNcmsc” ”strong=”5065|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 19 strong=”6996|������ b” x-morph=”OSHM:HAamsa”
strong=”c/1419|������/��� a” x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.0”
”strong=”8033|����� x-morph=”OSHM:HD” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1” ”strong=”c/5650|������/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”2670|��������� x-morph=”OSHM:HAamsa”
”strong=”m/113|�/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-
cantillationLevel=”0”� 20 ”strong=”l/4100|����/��� x-morph=”OSHM:HR/Ti”
”strong=”5414|������� x-morph=”OSHM:HVqi3ms” strong=”l/6001|������/��
a” x-morph=”OSHM:HR/Aamsa” ”strong=”216|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” strong=”c/2416|��������/��� e” x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”l/4751|������/�� x-morph=”OSHM:HR/Aampc”
”strong=”5315|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
21 ”strong=”d/2442|����������/��� x-morph=”OSHM:HTd/Vprmpa” ”strong=”l/4194|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”c/369|����/������/�� x-morph=”OSHM:HC/Tn/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/2658|���/�����������/���� x-morph=”OSHM:HC/Vqw3mp/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”m/4301|�������������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� 22 ”strong=”d/8055|�����������/�� x-morph=”OSHM:HTd/Aampa”
”strong=”413|����� x-morph=”OSHM:HR”������|strong=”1524 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”7797|������������ x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4672|���������
x-morph=”OSHM:HVqi3mp”�������|strong=”6913” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 23 ”strong=”l/1397|�����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”��/���������|strong=”1870”
x-morph=”OSHM:HNcbsc/Sp3ms” ”strong=”5641|����������� x-morph=”OSHM:HVNp3fs”
x-cantillationLevel=”1” strong=”c/5526|��������/�� a” x-morph=”OSHM:HC/Vhw3ms”
”strong=”433|��������� x-morph=”OSHM:HNcmsa” ”strong=”1157|��/�������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 24 strong=”3588|�����
a” x-morph=”OSHM:HC”������/���|strong=”l/6440” x-morph=”OSHM:HR/Ncbpc”
”strong=”3899|�/������� x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.0”
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”strong=”5927|�������� x-morph=”OSHM:HVqi3mp” ”strong=”b/8414|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”c/6|���������/�� x-morph=”OSHM:HC/Vqi3mp”
x-cantillationLevel=”0”� 19 ”strong=”5027|���������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.0” ”strong=”734|��������� x-morph=”OSHM:HNcbpc”
”strong=”8485|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”1979|��������� x-morph=”OSHM:HNcfpc” ”strong=”7614|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”6960|������ a”
x-morph=”OSHM:HVpp3cp”���/����|strong=”l” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 20 ”strong=”954|�������� x-morph=”OSHM:HVqp3cp”
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strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”982” x-
morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”935|�������
x-morph=”OSHM:HVqp3cp” 11 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. ”strong=”5704|��/������� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”c/2659|������������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0”� 21 strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”6258”
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”1961|���������
x-morph=”OSHM:HVqp2mp” ”strong=”3808|�� x-morph=”OSHM:HTn” x-
wType=”x-ketiv” 12 ”strong=”7200|���������� x-morph=”OSHM:HVqi2mp”
”strong=”2866|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/3372|����������/�� x-morph=”OSHM:HC/Vqw2mp” x-cantillationLevel=”0”�
22 strong=”i/3588|���/��� a” x-morph=”OSHM:HTi/C”������������|strong=”559”
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”3051|������
x-morph=”OSHM:HVqv2mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” strong=”c/m/3581|����/�����/��/��� b” x-morph=”OSHM:HC/R/Ncmsc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”7809|��������� x-morph=”OSHM:HVqv2mp”
”strong=”1157|�/������� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
23 ”strong=”c/4422|���/���������/�� x-morph=”OSHM:HC/Vpv2mp/Sp1cs”
”strong=”m/3027|����/�� x-morph=”OSHM:HR/Ncbsc”�����|strong=”6862
c” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/m/3027|�����/��/��
x-morph=”OSHM:HC/R/Ncbsc” ”strong=”6184|���������� x-morph=”OSHM:HAampa”
”strong=”6299|���/���������� x-morph=”OSHM:HVqi2mp/Sp1cs” x-cantillationLevel=”0”�
24 strong=”3384|���/������� b” x-morph=”OSHM:HVhv2mp/Sp1cs” x-
cantillationLevel=”1.0” ”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs”
strong=”2790|���������� b” x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1”
”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”�������������|strong=”7686”
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0” ”strong=”995|���������
x-morph=”OSHM:HVhv2mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 25 ”strong=”4100|��� x-morph=”OSHM:HTi”������������|strong=”4834”
x-morph=”OSHM:HVNp3cp” ”strong=”561|������� x-morph=”OSHM:HNcmpc”��������|strong=”3476”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”�����������|strong=”3198” x-morph=”OSHM:HVhi3ms”
”strong=”3198|�������� x-morph=”OSHM:HVha” strong=”m/4480|�����/��
a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0”� 26 ”strong=”d/l/3198|�������/��/��
x-morph=”OSHM:HTi/R/Vhc” ”strong=”4405|�������� x-morph=”OSHM:HNcfpa”
”strong=”2803|������������ x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1”
”strong=”c/l/7307|������/��/��� x-morph=”OSHM:HC/R/Ncbsa” x-cantillationLevel=”0.0”
”strong=”561|�������� x-morph=”OSHM:HNcmpc” ”strong=”2976|�������
x-morph=”OSHM:HVNrmsa” x-cantillationLevel=”0”� 27 ”strong=”637|���
x-morph=”OSHM:HTa”����|strong=”5921 a” x-morph=”OSHM:HR”��������|strong=”3490”
x-morph=”OSHM:HNcmsa” ”strong=”5307|����������� x-morph=”OSHM:HVhi2mp”
x-cantillationLevel=”1” strong=”c/3738|��������/��� b” x-morph=”OSHM:HC/Vqi2mp”

111
12+ ”strong=”l|��/���� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
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x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”����/�������|strong=”7453”
x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”0”� 28 ”strong=”c/6258|������/���
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0” ”strong=”2974|����������
x-morph=”OSHM:HVhv2mp” ”strong=”6437|����� x-morph=”OSHM:HVqv2mp”�/����|strong=”b”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”����/��������|strong=”6440” x-morph=”OSHM:HNcbpc/Sp2mp”
x-cantillationLevel=”0.0” strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”3576”
x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”0”� 29 ”strong=”7725|�������
x-morph=”OSHM:HVqv2mp”�����|strong=”4994” x-morph=”OSHM:HTe”
x-cantillationLevel=”1.0” ”strong=”408|��� x-morph=”OSHM:HTn”��������|strong=”1961”
x-morph=”OSHM:HVqj3fs” strong=”5766|�������� b” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”c/7725|���/� x-morph=”OSHM:HC/Vqv2fs”
x-wType=”x-ketiv” 13 14 We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. 15 ”strong=”5750|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”6664|�/������
x-morph=”OSHM:HNcmsc/Sp1cs”��/����|strong=”b” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 30 ”strong=”i/3426|����/�� x-morph=”OSHM:HTi/Tm”�/���������/����|strong=”b/3956”
x-morph=”OSHM:HR/Ncbsc/Sp1cs” strong=”5766|�������� b” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”�/��������|strong=”2441”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”995” x-morph=”OSHM:HVqi3ms”
”strong=”1942|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�

7 ”strong=”i/3808|���/�� x-morph=”OSHM:HTi/Tn”�������|strong=”6635
a” x-morph=”OSHM:HNcbsa” ”strong=”l/582|��������/�� x-morph=”OSHM:HR/Ncmsa”
strong=”5921|�� a” x-morph=”OSHM:HR” x-wType=”x-ketiv” 16 ”strong=”776|�������

x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”c/k/3117|�����/��/��
x-morph=”OSHM:HC/R/Ncmpc” ”strong=”7916|�������� x-morph=”OSHM:HAamsa”
”strong=”3117|�/������ x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0”�
2 ”strong=”k/5650|������/��� x-morph=”OSHM:HR/Ncmsa” strong=”7602|��������
a” x-morph=”OSHM:HVqi3ms”�����|strong=”6738” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/k/7916|��������/��/��� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.0” strong=”6960|��������� a” x-morph=”OSHM:HVpi3ms”
”strong=”6467|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
3 strong=”3651|����� c” x-morph=”OSHM:HTm” ”strong=”5157|�������������
x-morph=”OSHM:HVHp1cs” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3391|������� x-morph=”OSHM:HNcmpc”��������|strong=”7723”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/3915|��������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”5999|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” ”strong=”4487|������ x-morph=”OSHM:HVpp3cp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 4 strong=”518|���
a” x-morph=”OSHM:HC”�������������|strong=”7901” x-morph=”OSHM:HVqp1cs”
13+ ”strong=”c/7725|��������/�����/� x-morph=”OSHM:HC/Vqv2mp”
14c
15k We read one or more consonants in L differently from BHS.
16+ strong=”5921|������� a” x-morph=”OSHM:HR”
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x-cantillationLevel=”1.2” ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”1.1” ”strong=”4970|������ x-morph=”OSHM:HTi” strong=”6965|�������
b” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0” ”strong=”c/4059|������/��
x-morph=”OSHM:HC/Vpq3ms”�������|strong=”6153” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7646|������������/�� x-morph=”OSHM:HC/Vqq1cs”
”strong=”5076|��������� x-morph=”OSHM:HNcmpa” ”strong=”5704|�����
x-morph=”OSHM:HR”��������|strong=”5399” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 5 ”strong=”3847|�������� x-morph=”OSHM:HVqp3ms”
”strong=”1320|�/��������� x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”7415|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”c/1487|���/�
x-morph=”OSHM:HC/Ncmsc” x-wType=”x-ketiv” 17 ”strong=”6083|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”5785|�/������
x-morph=”OSHM:HNcmsc/Sp1cs” strong=”7280|������� c” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” strong=”c/3988|����������/�� b” x-morph=”OSHM:HC/VNw3ms”
x-cantillationLevel=”0”� 6 ”strong=”3117|�/����� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”7043|������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0”
strong=”4480|������ a” x-morph=”OSHM:HR”�������|strong=”708”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/3615|���������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” strong=”b/657|������/���
a” x-morph=”OSHM:HR/Ncmsc” strong=”8615|��������� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 7 ”strong=”2142|������ x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.0” strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”7307”
x-morph=”OSHM:HNcbsa” strong=”2416|�/������ e” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”7725”
x-morph=”OSHM:HVqi3fs” strong=”5869|�/������� a” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/7200|�������/�� x-morph=”OSHM:HR/Vqc”
strong=”2896|����� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”�
8 ”strong=”3808|���� x-morph=”OSHM:HTn”���/����������|strong=”7789”
x-morph=”OSHM:HVqi3fs/Sp1cs” x-cantillationLevel=”1.0” strong=”5869|�����
a” x-morph=”OSHM:HNcbsc” ”strong=”7210|������ x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1” strong=”5869|��/������� a” x-morph=”OSHM:HNcbdc/Sp2ms”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” ”strong=”c/369|����/������/��
x-morph=”OSHM:HC/Tn/Sp1cs” x-cantillationLevel=”0”� 9 ”strong=”3615|�������
x-morph=”OSHM:HVqp3ms” ”strong=”6051|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1” strong=”3651|����� c” x-morph=”OSHM:HTm” ”strong=”3381|�������
x-morph=”OSHM:HVqrmsa” ”strong=”7585|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5927|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”� 10 ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”7725” x-morph=”OSHM:HVqi3ms”
”strong=”5750|����� x-morph=”OSHM:HD” strong=”l/1004|��/�����/��
b” x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”����/����������|strong=”5234 a” x-morph=”OSHM:HVhi3ms/Sp3ms”
”strong=”5750|����� x-morph=”OSHM:HD” ”strong=”4725|��/������
17+ ”strong=”c/1487|������/�����/� x-morph=”OSHM:HC/Ncmsc”
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x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 11 ”strong=”1571|����
x-morph=”OSHM:HTa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”2.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2820|����������
x-morph=”OSHM:HVqi1cs” ”strong=”6310|�/���� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”2” ”strong=”1696|������������ x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”1.0” strong=”b/6862|����/��� b” x-morph=”OSHM:HR/Aamsc”
”strong=”7307|�/������ x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1”
”strong=”7878|����������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0”
”strong=”b/4751|����/��� x-morph=”OSHM:HR/Aamsc” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”� 12 ”strong=”i/3220|���/���
x-morph=”OSHM:HTi/Ncmsa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.0” strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”8577
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”7760 a” x-morph=”OSHM:HVqi2ms”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” ”strong=”4929|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 13 strong=”3588|�����
a” x-morph=”OSHM:HC”������������|strong=”559” x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”5162|���/���������� x-morph=”OSHM:HVpi3fs/Sp1cs”
”strong=”6210|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
”strong=”5375|�������� x-morph=”OSHM:HVqi3ms” ”strong=”b/7879|�/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”4904|�/�����������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 14 ”strong=”c/2865|���/���������/��
x-morph=”OSHM:HC/Vpq2ms/Sp1cs” ”strong=”b/2472|���������/�� x-
morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1” ”strong=”c/m/2384|�����������/��/���
x-morph=”OSHM:HC/R/Ncmpa” ”strong=”1204|����/���������� x-morph=”OSHM:HVpi2ms/Sp1cs”
x-cantillationLevel=”0”� 15 ”strong=”c/977|���������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”4267|�������� x-morph=”OSHM:HNcmsa” ”strong=”5315|�/��������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1” ”strong=”4194|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”m/6106|�/����������/���
x-morph=”OSHM:HR/Ncfpc/Sp1cs” x-cantillationLevel=”0”� 16 strong=”3988|�����������
a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”������/���|strong=”l/5769” x-morph=”OSHM:HR/Ncmsa”
”strong=”2421|��������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1”
”strong=”2308|������ x-morph=”OSHM:HVqv2ms” strong=”4480|����/�������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0” strong=”3588|����
a” x-morph=”OSHM:HC”�������|strong=”1892” x-morph=”OSHM:HNcmsa”
”strong=”3117|�/����� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0”�
17 ”strong=”4100|���� x-morph=”OSHM:HTi”���������|strong=”582”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1431|����/���������� x-morph=”OSHM:HVpi2ms/Sp3ms”
x-cantillationLevel=”1” strong=”c/3588|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”7896”
x-morph=”OSHM:HVqi2ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
strong=”3820|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”�
18 strong=”c/6485|����/����������/�� a” x-morph=”OSHM:HC/Vqw2ms/Sp3ms”
”strong=”l/1242|���������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1”
”strong=”l/7281|���������/��� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.0”
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”strong=”974|����/���������� x-morph=”OSHM:HVqi2ms/Sp3ms” x-
cantillationLevel=”0”� 19 ”strong=”k/4100|����/���� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”����������|strong=”8159”
x-morph=”OSHM:HVqi2ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn”���/����������|strong=”7503”
x-morph=”OSHM:HVhi2ms/Sp1cs” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�/���������|strong=”1104” x-morph=”OSHM:HVqc/Sp1cs”
”strong=”7536|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
20 ”strong=”2398|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”2.0.1”
”strong=”4100|���� x-morph=”OSHM:HTi” ”strong=”6466|�������� x-
morph=”OSHM:HVqi1cs” x-cantillationLevel=”2.0.0” � ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”2.0” ”strong=”5341|������
x-morph=”OSHM:HVqrmsc” ”strong=”d/120|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”2” ”strong=”l/4100|���/��� x-morph=”OSHM:HR/Ti”
strong=”7760|���/��������� a” x-morph=”OSHM:HVqp2ms/Sp1cs” ”strong=”l/4645|���������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” ”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqw1cs”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” strong=”l/4853|��������/��
a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 21 ”strong=”c/4100|����/��
x-morph=”OSHM:HC/Ti” x-cantillationLevel=”2.0.0” � ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”5375” x-morph=”OSHM:HVqi2ms”
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cantillationLevel=”0”� 12 strong=”2416|�������� e” x-morph=”OSHM:HNcmpa”
strong=”c/2617|�����/��� a” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
strong=”6213|��������� a” x-morph=”OSHM:HVqp2ms” ”strong=”5978|�/��������
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”c/6486|���/���������/���
x-morph=”OSHM:HC/Ncfsc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”8104|����������
x-morph=”OSHM:HVqp3fs” ”strong=”7307|�/������ x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 13 ”strong=”c/428|������/��� x-morph=”OSHM:HC/Pdxcp”
x-cantillationLevel=”1.0” ”strong=”6845|���������� x-morph=”OSHM:HVqp2ms”
”strong=”b/3824|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-
cantillationLevel=”1” ”strong=”3045|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”2063”
x-morph=”OSHM:HPdxfs” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
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x-cantillationLevel=”0”� 14 strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”2398”
x-morph=”OSHM:HVqp1cs” ”strong=”c/8104|���/�����������/�� x-
morph=”OSHM:HC/Vqq2ms/Sp1cs” x-cantillationLevel=”1” ”strong=”c/m/5771|�/�������/��/���
x-morph=”OSHM:HC/R/Ncbsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5352|���/�������� x-morph=”OSHM:HVpi2ms/Sp1cs”
x-cantillationLevel=”0”� 15 strong=”518|��� a” x-morph=”OSHM:HC”�������������|strong=”7561”
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0” ”strong=”480|��������
x-morph=”OSHM:HTj” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”c/6663|����������/��� x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.0”
”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”5375” x-
morph=”OSHM:HVqi1cs” strong=”7218|�/������� a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”7649|������� x-morph=”OSHM:HAamsc”
”strong=”7036|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”c/7202|������/�� x-morph=”OSHM:HC/Vqv2ms” ”strong=”6040|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 16 ”strong=”c/1342|�������/���
x-morph=”OSHM:HC/Vqi3ms” x-cantillationLevel=”1.0” ”strong=”k/7826|��������/���
x-morph=”OSHM:HRd/Ncmsa” strong=”6679|���/��������� a” x-morph=”OSHM:HVqi2ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/7725|�������/��� x-morph=”OSHM:HC/Vqi2ms”
x-cantillationLevel=”0.0” ”strong=”6381|������������ x-morph=”OSHM:HVti2ms”�/����|strong=”b”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 17 ”strong=”2318|�����������
x-morph=”OSHM:HVpi2ms” ”strong=”5707|��/������ x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”1.1.0” � ”strong=”5048|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” strong=”c/7235|������/�� a” x-morph=”OSHM:HC/Vhj2ms”
strong=”3708|��/���������� b” x-morph=”OSHM:HNcmsc/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”2487|���������� x-morph=”OSHM:HNcfpa”
strong=”c/6635|������/�� a” x-morph=”OSHM:HC/Ncbsa” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 18 ”strong=”c/l/4100|����/���/��
x-morph=”OSHM:HC/R/Ti” ”strong=”m/7358|�����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”3318|���/�������� x-morph=”OSHM:HVhp2ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”1478|��������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.0” strong=”c/5869|������/�� a” x-morph=”OSHM:HC/Ncbsa”
”strong=”3808|��� x-morph=”OSHM:HTn”���/��������|strong=”7200”
x-morph=”OSHM:HVqi3fs/Sp1cs” x-cantillationLevel=”0”� 19 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”3808|��� x-morph=”OSHM:HTn”����������|strong=”1961”
x-morph=”OSHM:HVqp1cs” ”strong=”1961|�������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1” ”strong=”m/990|�������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”l/6913|�������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”2986|������� x-morph=”OSHM:HVHi1cs” x-cantillationLevel=”0”�
20 ”strong=”i/3808|���/�� x-morph=”OSHM:HTi/Tn”�������|strong=”4592”
x-morph=”OSHM:HNcmsa” ”strong=”3117|�/����� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”2308|���� x-morph=”OSHM:HVqj3ms” x-wType=”x-ketiv” 24 ”strong=”7896|����

24+ ”strong=”c/2308|������/������ x-morph=”OSHM:HC/Vqv2ms” x-
cantillationLevel=”1”
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x-morph=”OSHM:HVqj3ms” x-wType=”x-ketiv” 25 strong=”4480|����/�������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0” ”strong=”c/1082|�����������/��
x-morph=”OSHM:HC/Vhh1cs” ”strong=”4592|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0”� 21 ”strong=”b/2962|������/��� x-morph=”OSHM:HR/D”
”strong=”3212|������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”7725|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsc” ”strong=”2822|�������� x-morph=”OSHM:HNcmsa”
”strong=”c/6757|����������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”�
22 ”strong=”776|������ x-morph=”OSHM:HNcbsc” ”strong=”5890|�/��������
x-morph=”OSHM:HNcfsa/Sh” x-cantillationLevel=”1.1.0” � ”strong=”3644|�������
x-morph=”OSHM:HR” ”strong=”652|������ x-morph=”OSHM:HNcmsc” x-
cantillationLevel=”1.1” ”strong=”6757|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”5468|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/3313|�������/�� x-morph=”OSHM:HC/Vhw3fs” ”strong=”3644|������
x-morph=”OSHM:HR”�������|strong=”652” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� �11 strong=”c/6030|������/��� b” x-morph=”OSHM:HC/Vqw3ms”

x-cantillationLevel=”1.0” ”strong=”6691|������ x-morph=”OSHM:HNp”
”strong=”d/5284|�����������/��� x-morph=”OSHM:HTd/Ngmsa”

x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 2 ”strong=”i/7230|����/�� x-morph=”OSHM:HTi/Ncbsc”
”strong=”1697|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”6030|�������� b”
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�������|strong=”376” x-morph=”OSHM:HNcmsa”
”strong=”8193|����������� x-morph=”OSHM:HNcfda” ”strong=”6663|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”� 3 ”strong=”907|��/��������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”4962|�������
x-morph=”OSHM:HNcmpa” strong=”2790|����������� b” x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”1” 26 BHS has been faithful to the Leningrad Codexwhere
there might be a question of the validity of the form and we keep the same form
as BHS. ”strong=”c/3932|���������/��� x-morph=”OSHM:HC/Vqw2ms”
x-cantillationLevel=”0.0” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”3637|�������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”0”�
4 ”strong=”c/559|�������/��� x-morph=”OSHM:HC/Vqw2ms” x-cantillationLevel=”1.0”
”strong=”2134|����� x-morph=”OSHM:HAamsa” ”strong=”3948|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/1249|����/���
x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”0.0” ”strong=”1961|���������
x-morph=”OSHM:HVqp1cs” strong=”b/5869|��/�������/�� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”0”� 5 ”strong=”c/199|�������/��� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.0” ”strong=”4310|���� x-morph=”OSHM:HTi”��������|strong=”5414”
25+ ”strong=”c/7896|������/������ x-morph=”OSHM:HC/Vqv2ms”
261
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x-morph=”OSHM:HVqi3ms” ”strong=”433|��������� x-morph=”OSHM:HNcmsa”
”strong=”1696|�������� x-morph=”OSHM:HVpv2ms” x-cantillationLevel=”1”
strong=”c/6605|���������/�� a” x-morph=”OSHM:HC/Vqi3ms” ”strong=”8193|�/���������
x-morph=”OSHM:HNcfdc/Sp3ms” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 6 ”strong=”c/5046|������/�� x-morph=”OSHM:HC/Vhi3ms”���/���|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0.0” � ”strong=”8587|�������������
x-morph=”OSHM:HNcfpc” ”strong=”2451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC”�����������|strong=”3718”
x-morph=”OSHM:HNcmda” ”strong=”l/8454|������������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/3045|����/�� x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”0.0.0” strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”5382”
x-morph=”OSHM:HVhi3ms” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”433|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”m/5771|��/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-
cantillationLevel=”0”� 7 ”strong=”d/2714|������/�� x-morph=”OSHM:HTi/Ncmsc”
”strong=”433|�������� x-morph=”OSHM:HNcmsa” ”strong=”4672|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1” strong=”518|���� a”
x-morph=”OSHM:HC” ”strong=”5704|��� x-morph=”OSHM:HR”�����������|strong=”8503”
x-morph=”OSHM:HNcfsc” ”strong=”7706|�������� x-morph=”OSHM:HNp”
”strong=”4672|��������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”�
8 ”strong=”1363|��������� x-morph=”OSHM:HNcmpc” ”strong=”8064|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”4100|��� x-
morph=”OSHM:HTi”����������|strong=”6466” x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” ”strong=”6013|��������� x-morph=”OSHM:HAafsa”
”strong=”m/7585|���������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”4100|��� x-morph=”OSHM:HTi”��������|strong=”3045” x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 9 ”strong=”752|��������� x-morph=”OSHM:HAafsa”
”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsa” ”strong=”4055|��/������
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/7342|��������/���
x-morph=”OSHM:HC/Aafsa” x-cantillationLevel=”0.0” strong=”4480|������
a” x-morph=”OSHM:HR”�����|strong=”3220” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 10 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”2498”
x-morph=”OSHM:HVqi3ms” ”strong=”c/5462|����������/�� x-morph=”OSHM:HC/Vhi3ms”
x-cantillationLevel=”1” ”strong=”c/6950|���������/��� x-morph=”OSHM:HC/Vhi3ms”
x-cantillationLevel=”0.0” ”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
”strong=”7725|����/��������� x-morph=”OSHM:HVhi3ms/Sp3ms” x-
cantillationLevel=”0”� 11 strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.0” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” ”strong=”4962|����� x-morph=”OSHM:HNcmpc”��������|strong=”7723”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqw3ms”��������|strong=”205” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”995|������������ x-morph=”OSHM:HVti3ms” x-cantillationLevel=”0”�
12 ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa” ”strong=”5014|�������
x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”1.0” strong=”3823|���������
a” x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1” ”strong=”c/5895|������/��
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x-morph=”OSHM:HC/Ncmsc” ”strong=”6501|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
”strong=”3205|��������� x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”0”�
13 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”859 a”
x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0” 27 BHS has been faith-
ful to the Leningrad Codex where there might be a question of the validity of the
form and we keep the same form as BHS. strong=”3559|����������� a” x-
morph=”OSHM:HVhp2ms” strong=”3820|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/6566|�����������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” ”strong=”3709|��/�������
x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”0”� 14 strong=”518|���
a” x-morph=”OSHM:HC”�������|strong=”205” x-morph=”OSHM:HNcmsa”
”strong=”b/3027|��/����/���� x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-
cantillationLevel=”1.0” ”strong=”7368|���/���������� x-morph=”OSHM:HVhv2ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”������������|strong=”7931”
x-morph=”OSHM:HVhj2ms” ”strong=”b/168|��/��������/��� x-morph=”OSHM:HR/Ncmpc/Sp2ms”
strong=”5766|�������� b” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
15 strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”227 a” x-
morph=”OSHM:HD” x-cantillationLevel=”1.0” � ”strong=”5375|���������
x-morph=”OSHM:HVqi2ms” ”strong=”6440|��/������ x-morph=”OSHM:HNcbpc/Sp2ms”
strong=”m/3971|������/�� b” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq2ms” ”strong=”3332|�������
x-morph=”OSHM:HVHsmsa” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3372|������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 16 strong=”3588|���� a” x-morph=”OSHM:HC”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0” ”strong=”5999|������
x-morph=”OSHM:HNcbsa” ”strong=”7911|����������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”1” ”strong=”k/4325|������/��� x-morph=”OSHM:HR/Ncmpa”
strong=”5674|�������� a” x-morph=”OSHM:HVqp3cp” ”strong=”2142|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”� 17 strong=”c/m/6672|����������/��/����
a” x-morph=”OSHM:HC/R/Ncmpa” x-cantillationLevel=”1.0” strong=”6965|�������
b” x-morph=”OSHM:HVqi3ms” ”strong=”2465|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”5774|�/��������� b” x-morph=”OSHM:HVqi3fs/Sh”
x-cantillationLevel=”0.0” ”strong=”k/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0”�
18 ”strong=”c/982|���������/���� x-morph=”OSHM:HC/Vqq2ms” x-
cantillationLevel=”1.0” strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”3426”
x-morph=”OSHM:HTm” strong=”8615|��������� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/2658|����������/��� x-morph=”OSHM:HC/Vqq2ms”
x-cantillationLevel=”0.0” ”strong=”l/983|������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”7901|����������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”�
19 ”strong=”c/7257|���������/���� x-morph=”OSHM:HC/Vqq2ms” x-
cantillationLevel=”1.0” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”2729|��������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”1”
271
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strong=”c/2470|�������/�� b” x-morph=”OSHM:HC/Vpq3cp” ”strong=”6440|��/������
x-morph=”OSHM:HNcbpc/Sp2ms” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0”� 20 strong=”c/5869|�������/�� a” x-morph=”OSHM:HC/Ncbdc”
”strong=”7563|���������� x-morph=”OSHM:HAampa” x-cantillationLevel=”2.0”
”strong=”3615|������������� x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”2”
”strong=”c/4498|������/��� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”6|������ x-morph=”OSHM:HVqp3ms” strong=”4480|����/����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” strong=”c/8615|�/���������/���
b” x-morph=”OSHM:HC/Ncfsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”4646|�������
x-morph=”OSHM:HNcmsc”��������|strong=”5315” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� �12 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-

cantillationLevel=”0”� 2 ”strong=”551|�������� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”859|������
d” x-morph=”OSHM:HPp2mp”�����|strong=”5971 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/5973|����/�����/��� a” x-morph=”OSHM:HC/R/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”4191|�������� x-morph=”OSHM:HVqi3fs”
”strong=”2451|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
3 ”strong=”1571|���� x-morph=”OSHM:HTa”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
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”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa” strong=”c/3384|���/�����/��
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15 ”strong=”2005|���� x-morph=”OSHM:HTm” ”strong=”6113|��������
x-morph=”OSHM:HVqi3ms” ”strong=”b/4325|�������/��� x-morph=”OSHM:HRd/Ncmpa”
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x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1” 28 BHS has been faith-
ful to the Leningrad Codex where there might be a question of the valid-
ity of the form and we keep the same form as BHS. ”strong=”l|��/��� x-
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x-cantillationLevel=”0”� 21 ”strong=”8210|��������� x-morph=”OSHM:HVqrmsa”
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strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”5081”
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”strong=”7503|������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0”�
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x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 2 ”strong=”k/1847|���/�������/�����
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”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”7706” x-morph=”OSHM:HNp”
”strong=”1696|��������� x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”1”
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morph=”OSHM:HVqi2mp/Sn” x-cantillationLevel=”1” strong=”518|��� a”
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x-morph=”OSHM:HVqi3ms” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”������/����|strong=”k/2048
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”strong=”4512|�/������� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”�
30 ”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”5493”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”2” � strong=”4480|������
a” x-morph=”OSHM:HR”���������|strong=”2822” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”3127|��/���������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”3001|����������� x-morph=”OSHM:HVpi3fs”
”strong=”7957|����������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”c/5493|�������/��� x-morph=”OSHM:HC/Vqi3ms” x-cantillationLevel=”0.0”
”strong=”b/7307|������/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”6310|�/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 31 ”strong=”408|���
x-morph=”OSHM:HTn”���������|strong=”539” x-morph=”OSHM:HVhj3ms”
”strong=”b/7723|��/� x-morph=”OSHM:HRd/Ncmsa” x-wType=”x-ketiv”
34 ”strong=”8582|�������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1”
strong=”3588|���� a” x-morph=”OSHM:HC”���������|strong=”7723”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” ”strong=”8545|��/��������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 32 ”strong=”b/3808|���/���� x-morph=”OSHM:HR/Tn”��/������|strong=”3117”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”4390|����������
x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”1” ”strong=”c/3712|��/�������/���
x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” strong=”7488|���������� a” x-morph=”OSHM:HVkp3fs”
x-cantillationLevel=”0”� 33 ”strong=”2554|�������� x-morph=”OSHM:HVqi3ms”
”strong=”k/1612|�������/��� x-morph=”OSHM:HRd/Ncbsa” ”strong=”1154|��/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/7993|����������/��
x-morph=”OSHM:HC/Vhi3ms” ”strong=”k/2132|�������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”5328|��/������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 34 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”5712”
x-morph=”OSHM:HNcfsc” ”strong=”2611|������ x-morph=”OSHM:HAamsa”
”strong=”1565|���������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/784|�����/��� x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0”
”strong=”398|�������� x-morph=”OSHM:HVqp3fs” ”strong=”168|��������
x-morph=”OSHM:HNcmpc”��������|strong=”7810” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 35 ”strong=”2029|������ x-morph=”OSHM:HVqa”
”strong=”5999|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0”
”strong=”c/3205|������/�� x-morph=”OSHM:HC/Vqa” 35 We read one

34+ ”strong=”b/7723|�������/�����/� x-morph=”OSHM:HRd/Ncmsa”
35c
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or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”205|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/990|�/�������/��� x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”0.0” strong=”3559|�������� a” x-morph=”OSHM:HVhi3fs”
”strong=”4820|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
�16 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-

cantillationLevel=”0”� 2 ”strong=”8085|������������ x-morph=”OSHM:HVqp1cs”
”strong=”k/428|�������/�� x-morph=”OSHM:HR/Pdxcp” strong=”7227|��������
a” x-morph=”OSHM:HAafpa” x-cantillationLevel=”1” ”strong=”5162|����������
x-morph=”OSHM:HVprmpc” ”strong=”5999|������ x-morph=”OSHM:HNcbsa”
”strong=”3605|����/������ x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”0”�
3 ”strong=”i/7093|����/�� x-morph=”OSHM:HTi/Ncmsa” ”strong=”l/1697|�������/��
x-morph=”OSHM:HR/Ncmpc”�������|strong=”7307” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”4100|���
x-morph=”OSHM:HTi”���/�������������|strong=”4834” x-morph=”OSHM:HVhi3ms/Sp2ms”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”6030|��������
b” x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”� 4 ”strong=”1571|�����
x-morph=”OSHM:HTa” x-cantillationLevel=”2.0.0” � ”strong=”595|��������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”2.0” ”strong=”k|����/���
x-morph=”OSHM:HR/Sp2mp” ”strong=”1696|������������ x-morph=”OSHM:HVph1cs”
x-cantillationLevel=”2” ”strong=”3863|���� x-morph=”OSHM:HC”������|strong=”3426”
x-morph=”OSHM:HTm” ”strong=”5315|����/������� x-morph=”OSHM:HNcbsc/Sp2mp”
x-cantillationLevel=”1.0.0” ”strong=”8478|������� x-morph=”OSHM:HR”
”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.0”
”strong=”2266|������������ x-morph=”OSHM:HVhh1cs” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp2mp” ”strong=”b/4405|��������/��� x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”1” ”strong=”c/5128|���������/�� x-morph=”OSHM:HC/Vhh1cs”
strong=”5921|����/������ a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0”
”strong=”1119|������� x-morph=”OSHM:HR” strong=”7218|�/�������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 5 ”strong=”553|����/���������
x-morph=”OSHM:HVpi1cs/Sp2mp” ”strong=”1119|������ x-morph=”OSHM:HR”�/����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/5205|�����/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”8193|�/�������� x-morph=”OSHM:HNcfdc/Sp1cs”
”strong=”2820|���������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
6 strong=”518|���� a” x-morph=”OSHM:HC”������������|strong=”1696”
x-morph=”OSHM:HVph1cs” x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�����������|strong=”2820” x-morph=”OSHM:HVNi3ms”
”strong=”3511|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/2308|�����������/��� x-morph=”OSHM:HC/Vqh1cs” x-cantillationLevel=”0.0”
”strong=”4100|��� x-morph=”OSHM:HTi”�����/���|strong=”m/4480 a”
x-morph=”OSHM:HR/Sp1cs” ”strong=”1980|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 7 ”strong=”389|���� x-morph=”OSHM:HTa”��������|strong=”6258”
x-morph=”OSHM:HD” ”strong=”3811|���/������� x-morph=”OSHM:HVhp3ms/Sp1cs”
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x-cantillationLevel=”1” ”strong=”8074|������������� x-morph=”OSHM:HVhp2ms”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/��������|strong=”5712”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”� 8 ”strong=”c/7059|���/���������/����
x-morph=”OSHM:HC/Vqw2ms/Sp1cs” x-cantillationLevel=”1.0” ”strong=”l/5707|����/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” ”strong=”3585|�/���������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”b/6440|�/�����/���
x-morph=”OSHM:HR/Ncbpc/Sp1cs” strong=”6030|�������� b” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 9 ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”2963|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0”
� ”strong=”c/7852|���/�����������/��� x-morph=”OSHM:HC/Vqw3ms/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”2786|������ x-morph=”OSHM:HVqp3ms”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” ”strong=”b/8127|�/��������/���
x-morph=”OSHM:HR/Ncbdc/Sp3ms” x-cantillationLevel=”1” strong=”6862|�/�����
c” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” � ”strong=”3913|����������
x-morph=”OSHM:HVqi3ms” strong=”5869|�/������� a” x-morph=”OSHM:HNcbdc/Sp3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 10
”strong=”6473|��������� x-morph=”OSHM:HVqp3cp” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0” � ”strong=”b/6310|����/���/���
x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”b/2781|��������/����
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0” ”strong=”5221|�������
x-morph=”OSHM:HVhp3cp” ”strong=”3895|�/������� x-morph=”OSHM:HNcbdc/Sp1cs”
x-cantillationLevel=”1” strong=”3162|������� a” x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
”strong=”4390|�/������������� x-morph=”OSHM:HVti3mp/Sn” x-cantillationLevel=”0”�
11 ”strong=”5462|���/����������� x-morph=”OSHM:HVhi3ms/Sp1cs”
”strong=”410|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”413|����
x-morph=”OSHM:HR” ”strong=”5760|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”3027”
x-morph=”OSHM:HNcbdc” ”strong=”7563|���������� x-morph=”OSHM:HAampa”
strong=”3399|���/������� b” x-morph=”OSHM:HVqi3ms/Sp1cs” x-cantillationLevel=”0”�
12 ”strong=”7961|�������� x-morph=”OSHM:HAamsa” ”strong=”1961|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0” � strong=”c/6565|���/������������/���
a” x-morph=”OSHM:HC/Vlw3ms/Sp1cs” x-cantillationLevel=”1.1” ”strong=”c/270|������/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/6203|�/�������/���� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.0” strong=”c/6327|���/������������/��� d”
x-morph=”OSHM:HC/Vlw3ms/Sp1cs” x-cantillationLevel=”1” strong=”c/6965|���/��������/��
b” x-morph=”OSHM:HC/Vhw3ms/Sp1cs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”l/4307|���������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0”� 13 ”strong=”5437|���������� x-morph=”OSHM:HVqi3mp”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0”
� ”strong=”7228|�/������� x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”6398|��������� x-morph=”OSHM:HVpi3ms” ”strong=”3629|�/�����������
x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”2550|��������� x-morph=”OSHM:HVqi3ms”
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x-cantillationLevel=”1” ”strong=”8210|����������� x-morph=”OSHM:HVqi3ms”
”strong=”l/776|������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”4845|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”�
14 ”strong=”6555|���/��������� x-morph=”OSHM:HVqi3ms/Sp1cs” ”strong=”6556|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”�������|strong=”6440” x-morph=”OSHM:HNcbpc”�������|strong=”6556”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”7323|������
x-morph=”OSHM:HVqi3ms” strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
”strong=”k/1368|��������/��� x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”0”�
15 ”strong=”8242|����� x-morph=”OSHM:HNcmsa” ”strong=”8609|������������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” strong=”5921|������
a” x-morph=”OSHM:HR” ”strong=”1539|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”c/5953|�����������/�� d” x-morph=”OSHM:HC/Vmp1cs”
”strong=”b/6083|������/�� x-morph=”OSHM:HR/Ncmsa” strong=”7161|�/�������
a” x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”� 16 ”strong=”6440|�/������
x-morph=”OSHM:HNcbpc/Sp1cs” strong=”2560|������ c” x-morph=”OSHM:HVjp3fp”
x-wType=”x-ketiv” 36 strong=”4480|������ a” x-morph=”OSHM:HR”�������|strong=”1065”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R” ”strong=”6079|�/���������� x-morph=”OSHM:HNcmdc/Sp1cs”
”strong=”6757|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
17 strong=”5921|���� a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0”
”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”2555” x-morph=”OSHM:HNcmsa”
”strong=”b/3709|�/������/��� x-morph=”OSHM:HR/Ncfdc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/8605|�/����������/��� x-morph=”OSHM:HC/Ncfsc/Sp1cs”
”strong=”2134|������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”0”�
18 ”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0”
”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”3680”
x-morph=”OSHM:HVpj2fs” ”strong=”1818|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/408|���/��� x-morph=”OSHM:HC/Tn”�������|strong=”1961”
x-morph=”OSHM:HVqj3ms” ”strong=”4725|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l/2201|�/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp1cs”
x-cantillationLevel=”0”� 19 ”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”6258”
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”2009|������ x-
morph=”OSHM:HTm”����������/���|strong=”b/8064” x-morph=”OSHM:HRd/Ncmda”
”strong=”5707|�/����� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/7717|�/��������/��� x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”b/4791|�����������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 20 ”strong=”3887|�/�������� x-morph=”OSHM:HVhrmpc/Sp1cs”
”strong=”7453|�/����� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”433” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”1811|��������� x-morph=”OSHM:HVqp3fs”
strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”�
21 ”strong=”c/3198|�������/�� x-morph=”OSHM:HC/Vhi3ms” ”strong=”l/1397|������/��

36+ strong=”2560|������������������ c” x-morph=”OSHM:HVjp3cp” x-
cantillationLevel=”1.0”
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x-morph=”OSHM:HR/Ncmsa” strong=”5973|��� a” x-morph=”OSHM:HR”����������|strong=”433”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”c/1121|���/���
a” x-morph=”OSHM:HC/Ncmsc”�������|strong=”120” x-morph=”OSHM:HNcmsa”
”strong=”l/7453|���/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 22 strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”8141”
x-morph=”OSHM:HNcfpc” ”strong=”4557|��������� x-morph=”OSHM:HNcmsa”
”strong=”857|���������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
”strong=”c/734|������/�� x-morph=”OSHM:HC/Ncbsa” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”7725” x-morph=”OSHM:HVqi1cs”
”strong=”1980|��������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”�

17 ”strong=”7307|�/������ x-morph=”OSHM:HNcbsc/Sp1cs” strong=”2254|���������
b” x-morph=”OSHM:HVPp3fs” x-cantillationLevel=”1.0” ”strong=”3117|�/�����
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”2193|���������� x-

morph=”OSHM:HVNp3cp” x-cantillationLevel=”1” ”strong=”6913|���������
x-morph=”OSHM:HNcmpa” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 2 strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”2049|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/b/4784|�/�����������/��/��� x-
morph=”OSHM:HC/R/Vhc/Sp3mp” x-cantillationLevel=”0.0” strong=”3885|�������
a” x-morph=”OSHM:HVqi3fs” strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 3 strong=”7760|�/������� a” x-morph=”OSHM:HVqv2ms/Sh”������|strong=”4994”
x-morph=”OSHM:HTj” x-cantillationLevel=”1.0” ”strong=”6148|���/�������
x-morph=”OSHM:HVqv2ms/Sp1cs” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” ”strong=”4310|���� x-morph=”OSHM:HTi” ”strong=”1931|������
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0” ”strong=”l/3027|�/�����/��
x-morph=”OSHM:HR/Ncbsc/Sp1cs” ”strong=”8628|���������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0”� 4 strong=”3588|����� a” x-morph=”OSHM:HC”�/�������|strong=”3820
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”6845|����������
x-morph=”OSHM:HVqp2ms” ”strong=”m/7922|��������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” 37 We read punctuation in L differently from BHS.
strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”3651 c” x-
morph=”OSHM:HTm” x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn”
strong=”7311|�������� a” x-morph=”OSHM:HVoi2ms” x-cantillationLevel=”0”�
5 strong=”l/2506|�����/��� a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
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38c
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x-morph=”OSHM:HC/Tn” ”strong=”3254|�������� x-morph=”OSHM:HVhi3fs”
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x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”5750”
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”7789|����/����������
x-morph=”OSHM:HVqi3fs/Sp3ms” ”strong=”4725|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 10 strong=”1121|�/������� a” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”7521|��������� x-morph=”OSHM:HVpi3mp”
”strong=”1800|�������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
”strong=”c/3027|�/������/��� x-morph=”OSHM:HC/Ncbdc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”7725|������������ x-morph=”OSHM:HVhi3fp”
”strong=”202|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
11 ”strong=”6106|�/����������� x-morph=”OSHM:HNcfpc/Sp3ms” x-
cantillationLevel=”1.0” ”strong=”4390|�������� x-morph=”OSHM:HVqp3cp”
”strong=”5934|�/���� x-morph=”OSHM:HNcmpc/Sp3ms” x-wType=”x-ketiv”
42 strong=”c/5973|��/�����/��� a” x-morph=”OSHM:HC/R/Sp3ms” x-
cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”6083”
x-morph=”OSHM:HNcmsa” ”strong=”7901|����������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0”� 12 strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”4985”
x-morph=”OSHM:HVhi3fs” ”strong=”b/6310|�/����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
strong=”7451|������ c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”3582|����/����������� x-morph=”OSHM:HVhi3ms/Sp3fs” x-
cantillationLevel=”0.0” ”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”3956|��/��������
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0”� 13 ”strong=”2550|��������
x-morph=”OSHM:HVqi3ms” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”5800|����/���������� a” x-morph=”OSHM:HVqi3ms/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/4513|����/���������/��� x-morph=”OSHM:HC/Vqi3ms/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”2441|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
14 ”strong=”3899|��/������ x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.0”
”strong=”b/4578|�/������/��� x-morph=”OSHM:HR/Ncmpc/Sp3ms” ”strong=”2015|����������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1” ”strong=”4846|���������
x-morph=”OSHM:HNcfsc” ”strong=”6620|���������� x-morph=”OSHM:HNcmpa”
”strong=”b/7130|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 15 ”strong=”2428|������ x-morph=”OSHM:HNcmsa”
”strong=”1104|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0”
”strong=”c/6958|����/�������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”m/990|��/�������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3423|����/��������� x-morph=”OSHM:HVhi3ms/Sp3ms”
”strong=”410|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 16
”strong=”7219|����� x-morph=”OSHM:HNcmsc”�����������|strong=”6620”
x-morph=”OSHM:HNcmpa” ”strong=”3243|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”2026|���/������������ x-morph=”OSHM:HVqi3fs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3956|�������� x-morph=”OSHM:HNcbsc”
”strong=”660|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�

42+ ”strong=”5934|�/����������/���� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1”
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17 ”strong=”408|��� x-morph=”OSHM:HTn”�������|strong=”7200” x-
morph=”OSHM:HVqj3ms” ”strong=”b/6390|����������/�� x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”1” ”strong=”5104|�������� x-morph=”OSHM:HNcmpc”
strong=”5158|��������� a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.0”
”strong=”1706|�������� x-morph=”OSHM:HNcmsa” strong=”c/2529|��������/��
a” x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”� 18 ”strong=”7725|��������
x-morph=”OSHM:HVhrmsa” ”strong=”3022|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”1104|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
”strong=”k/2428|�����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”8545|��/�����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”5965|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 19 strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”7533”
x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.0” strong=”5800|������
a” x-morph=”OSHM:HVqp3ms” ”strong=”1800|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” strong=”1004|������� b” x-morph=”OSHM:HNcmsa”
”strong=”1497|�������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”1129|���/�������
x-morph=”OSHM:HVqi3ms/Sp3ms” x-cantillationLevel=”0”� 20 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0” � ”strong=”3808|��� x-
morph=”OSHM:HTn”�������|strong=”3045” x-morph=”OSHM:HVqp3ms”
”strong=”7961|������� x-morph=”OSHM:HAamsa” ”strong=”b/990|��/������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1” strong=”b/2530|��/�������/����
a” x-morph=”OSHM:HR/Vqsmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”4422|��������� x-morph=”OSHM:HVpi3ms”
x-cantillationLevel=”0”� 21 ”strong=”369|���� x-morph=”OSHM:HTn”���������|strong=”8300”
x-morph=”OSHM:HNcmsa” ”strong=”l/400|��/������/�� x-morph=”OSHM:HR/Vqc/Sp3ms”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”0.0” ”strong=”3808|��� x-
morph=”OSHM:HTn”��������|strong=”2342 b” x-morph=”OSHM:HVqi3ms”
”strong=”2898|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
22 ”strong=”b/4390|��������/��� x-morph=”OSHM:HR/Vqc” strong=”5607|��/�������
b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”3334|������
x-morph=”OSHM:HVqi3ms” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����|strong=”3027”
x-morph=”OSHM:HNcbsc” strong=”6001|������ a” x-morph=”OSHM:HAamsa”
”strong=”935|����/��������� x-morph=”OSHM:HVqi3fs/Sp3ms” x-cantillationLevel=”0”�
23 ”strong=”1961|������ x-morph=”OSHM:HVqj3ms” x-cantillationLevel=”1.1.0”
� ”strong=”l/4390|�������/�� x-morph=”OSHM:HR/Vpc” ”strong=”990|��/������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”7971|����������
x-morph=”OSHM:HVpi3ms”��/����|strong=”b” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” 43We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”2740|�������
x-morph=”OSHM:HNcmsc” ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
43c
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x-cantillationLevel=”1” ”strong=”c/4305|��������/�� x-morph=”OSHM:HC/Vhi3ms”
strong=”5921|���/������� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”b/3894|��/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 24 ”strong=”1272|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.0” ”strong=”m/5402|��������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”1270|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”2498|���/����������� x-morph=”OSHM:HVqi3fs/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”7198|������� x-morph=”OSHM:HNcfsc”
”strong=”5154|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
25 ”strong=”8025|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”2.0”
”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”m/1465|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”2” strong=”c/1300|�����/���
b” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0” ”strong=”m/4846|��/���������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” ”strong=”1980|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”367|������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�
26 ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”2822”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”2.0” ”strong=”2934|�������
x-morph=”OSHM:HVqsmsa” ”strong=”l/6845|�/�����������/�� x-morph=”OSHM:HR/Vqsmpc/Sp3ms”
x-cantillationLevel=”2” ”strong=”398|���/���������� x-morph=”OSHM:HVqi3fs/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”784|����� x-morph=”OSHM:HNcbsa”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”5301” x-
morph=”OSHM:HVPp3ms” x-cantillationLevel=”1” ”strong=”3415|������
x-morph=”OSHM:HVqi3ms” ”strong=”8300|�������� x-morph=”OSHM:HNcmsa”
”strong=”b/168|��/������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 27 ”strong=”1540|��������� x-morph=”OSHM:HVpi3mp”
”strong=”8064|��������� x-morph=”OSHM:HNcmpa” ”strong=”5771|��/������
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/776|������/���
x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0” strong=”6965|��������������
b” x-morph=”OSHM:HVrrfsa” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 28 ”strong=”1540|������ x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.0” ”strong=”2981|������� x-morph=”OSHM:HNcmsc”
strong=”1004|��/������ b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”5064|����������� x-morph=”OSHM:HVNrfpa” x-cantillationLevel=”0.0”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”639|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 29 ”strong=”2088|����
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.0.0” � strong=”2506|������
a” x-morph=”OSHM:HNcmsa”�������|strong=”120” x-morph=”OSHM:HNcmsa”
”strong=”7563|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0”
”strong=”m/430|���������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1”
”strong=”c/5159|��������/�� x-morph=”OSHM:HC/Ncfsc” ”strong=”561|��/������
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”m/410|����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� �21 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-
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cantillationLevel=”0”� 2 ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
”strong=”8085|��������� x-morph=”OSHM:HVqa” x-cantillationLevel=”1.0”
”strong=”4405|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/1961|�����/�� x-morph=”OSHM:HC/Vqj3fs”�������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”0.0” ”strong=”8575|����/���������������
x-morph=”OSHM:HNcbpc/Sp2mp” x-cantillationLevel=”0”� 3 ”strong=”5375|���/�������
x-morph=”OSHM:HVqv2mp/Sp1cs” x-cantillationLevel=”1.0” ”strong=”c/595|��������/��
x-morph=”OSHM:HC/Pp1cs” ”strong=”1696|��������� x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”1” strong=”c/310|������/�� a” x-morph=”OSHM:HC/D”
”strong=”1696|�/��������� x-morph=”OSHM:HVpc/Sp1cs” ”strong=”3932|���������
x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0”� 4 ”strong=”d/595|�������/���
x-morph=”OSHM:HTi/Pp1cs” x-cantillationLevel=”1.0” ”strong=”l/120|������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”7879|�/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����������|strong=”4069”
x-morph=”OSHM:HTi” x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”7114
a” x-morph=”OSHM:HVqi3fs” ”strong=”7307|�/������ x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 5 ”strong=”6437|������ x-morph=”OSHM:HVqv2mp”�/������|strong=”413”
x-morph=”OSHM:HR/Sp1cs” ”strong=”c/8074|����������/�� x-morph=”OSHM:HC/Vhv2mp”
x-cantillationLevel=”1” strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqv2mp”
”strong=”3027|���� x-morph=”OSHM:HNcbsa” strong=”5921|��� a” x-
morph=”OSHM:HR”������|strong=”6310” x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0”� 6 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”������������|strong=”2142”
x-morph=”OSHM:HVqp1cs” ”strong=”c/926|�������������/�� x-morph=”OSHM:HC/VNq1cs”
x-cantillationLevel=”1” ”strong=”c/270|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”1320|�/���������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”6427|����������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
7 ”strong=”4069|��������� x-morph=”OSHM:HTi” ”strong=”7563|����������
x-morph=”OSHM:HAampa” ”strong=”2421|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1” ”strong=”6275|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”1571|���� x-morph=”OSHM:HTa”����������|strong=”1396”
x-morph=”OSHM:HVqp3cp” ”strong=”2428|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 8 ”strong=”2233|�/������� x-morph=”OSHM:HNcmsc/Sp3mp”
strong=”3559|������� a” x-morph=”OSHM:HVNrmsa” ”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp” strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/6631|����/���������/��� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0” strong=”l/5869|����/������/�� a” x-morph=”OSHM:HR/Ncbdc/Sp3mp”
x-cantillationLevel=”0”� 9 strong=”1004|����/������� b” x-morph=”OSHM:HNcmpc/Sp3mp”
”strong=”7965|�������� x-morph=”OSHM:HNcmsa” ”strong=”m/6343|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7626|������� x-morph=”OSHM:HNcmsc”
”strong=”433|��������� x-morph=”OSHM:HNcmsa” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 10 ”strong=”7794|��/������
x-morph=”OSHM:HNcmsc/Sp3ms” strong=”5674|������� a” x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”1602|�������� x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1”
”strong=”6403|���������� x-morph=”OSHM:HVpi3fs” ”strong=”6510|��/��������
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x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” strong=”7921|���������� a” x-morph=”OSHM:HVpi3fs”
x-cantillationLevel=”0”� 11 ”strong=”7971|������������ x-morph=”OSHM:HVpi3mp”
”strong=”k/6629|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”5759|����/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1”
”strong=”c/3206|����/�������/��� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”7540|�/����������� x-morph=”OSHM:HVpi3mp/Sn”
x-cantillationLevel=”0”� 12 ”strong=”5375|��������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.0” ”strong=”k/8596|����/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”c/3658|��������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1”
”strong=”c/8055|�����������/��� x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”0.0”
strong=”l/6963|�����/�� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”5748|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 13 ”strong=”1086|����
x-morph=”OSHM:HVpi3mp” x-wType=”x-ketiv” 44 strong=”b/2896|������/��
b” x-morph=”OSHM:HRd/Aamsa” ”strong=”3117|����/����� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/b/7281|������/��/��� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”7585|�������� x-morph=”OSHM:HNp”
”strong=”5181|��������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0”�
14 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l/410|���/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”5493|�����
x-morph=”OSHM:HVqv2ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1” ”strong=”c/1847|������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”1870|��/���������� x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”2654|����������
a” x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0”� 15 ”strong=”4100|���
x-morph=”OSHM:HTi”���������|strong=”7706” x-morph=”OSHM:HNp”
strong=”3588|����� a” x-morph=”OSHM:HC”����/�����������|strong=”5647”
x-morph=”OSHM:HVqi1cp/Sp1cp” x-cantillationLevel=”1” ”strong=”c/4100|���/��
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x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”5104|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3332|�������
x-morph=”OSHM:HVHi3ms” ”strong=”3247|�/�������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 17 ”strong=”d/559|���������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”l/410|���/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”5493|����� x-morph=”OSHM:HVqv2ms” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1” ”strong=”c/4100|���/��
x-morph=”OSHM:HC/Ti”����������|strong=”6466” x-morph=”OSHM:HVqi3ms”
”strong=”7706|�������� x-morph=”OSHM:HNp” ”strong=”l|���/��� x-
morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 18 ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” ”strong=”4390|������� x-morph=”OSHM:HVpp3ms”
strong=”1004|����/������ b” x-morph=”OSHM:HNcmpc/Sp3mp” strong=”2896|�����
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/6098|������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”7563|����������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”7368|�������� x-morph=”OSHM:HVqp3fs”
strong=”m/4480|����/��� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
19 ”strong=”7200|�������� x-morph=”OSHM:HVqi3mp” ”strong=”6662|�����������
x-morph=”OSHM:HAampa” ”strong=”c/8055|�����������/�� x-morph=”OSHM:HC/Vqi3mp”
x-cantillationLevel=”1” strong=”c/5355|������/��� a” x-morph=”OSHM:HC/Aamsa”
x-cantillationLevel=”0.0” ”strong=”3932|������� x-morph=”OSHM:HVqi3ms”���/����|strong=”l”
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 20 strong=”518|���
a” x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn” ”strong=”3582|��������
x-morph=”OSHM:HVNp3ms” ”strong=”7009|���/������ x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”1” strong=”c/3499|�/�������/��� a” x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”398|�������� x-morph=”OSHM:HVqp3fs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
21 ”strong=”5532|�������� x-morph=”OSHM:HVhv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” strong=”c/7999|�����/�� b” x-morph=”OSHM:HC/Vqv2ms”
48 BHS has been faithful to the Leningrad Codex where there might be a ques-
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tion of the validity of the form andwe keep the same form as BHS. ”strong=”b|����/����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0” ”strong=”935|���/�����������
x-morph=”OSHM:HVqi3fs/Sp2ms” strong=”2896|������� c” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0”� 22 ”strong=”3947|��� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”m/6310|�/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
”strong=”8451|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
strong=”c/7760|������/�� a” x-morph=”OSHM:HC/Vqv2ms” ”strong=”561|�/���������
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”b/3824|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-cantillationLevel=”0”� 23 strong=”518|���
a” x-morph=”OSHM:HC”����������|strong=”7725” x-morph=”OSHM:HVqi2ms”
”strong=”5704|��� x-morph=”OSHM:HR”���������|strong=”7706” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”1129|����������
x-morph=”OSHM:HVNi2ms” x-cantillationLevel=”1” ”strong=”7368|����������
x-morph=”OSHM:HVhi2ms” strong=”5766|��������� b” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” ”strong=”m/168|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0”� 24 ”strong=”c/7896|�����/�� x-morph=”OSHM:HC/Vqv2ms”����|strong=”5921
a” x-morph=”OSHM:HR”�������|strong=”6083” x-morph=”OSHM:HNcmsa”
”strong=”1220|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/b/6697|�����/��/�� x-morph=”OSHM:HC/R/Ncmsc” strong=”5158|���������
a” x-morph=”OSHM:HNcmpa” ”strong=”211|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 25 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”7706|�������� x-morph=”OSHM:HNp” ”strong=”1220|��/���������
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/3701|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”8443|����������� x-morph=”OSHM:HNcfpa”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
26 strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”227 a” x-
morph=”OSHM:HD” x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”7706”
x-morph=”OSHM:HNp” ”strong=”6026|������������ x-morph=”OSHM:HVti2ms”
x-cantillationLevel=”1” ”strong=”c/5375|��������/�� x-morph=”OSHM:HC/Vqi2ms”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”433” x-morph=”OSHM:HNcmsa”
”strong=”6440|��/������� x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”0”�
27 ”strong=”6279|����������� x-morph=”OSHM:HVhi2ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/8085|���/����������/��
x-morph=”OSHM:HC/Vqi3ms/Sp2ms” x-cantillationLevel=”1” ”strong=”c/5088|��/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp2ms” strong=”7999|���������� a” x-morph=”OSHM:HVpi2ms”
x-cantillationLevel=”0”� 28 ”strong=”c/1504|�������/��� x-morph=”OSHM:HC/Vqi2ms”��������|strong=”562”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” 49We read one ormore
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. strong=”c/6965|������/�� b” x-morph=”OSHM:HC/Vqj3ms”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��/�����������|strong=”1870” x-morph=”OSHM:HNcbpc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”5050|�������� x-morph=”OSHM:HVqp3ms”
”strong=”216|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
29 strong=”3588|����� a” x-morph=”OSHM:HC”��������������|strong=”8213”
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x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw2ms” ”strong=”1466|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/7807|�����/�� x-morph=”OSHM:HC/Aamsc”
strong=”5869|��������� a” x-morph=”OSHM:HNcbda” ”strong=”3467|���������
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0”� 30 ”strong=”4422|����������
x-morph=”OSHM:HVpi3ms” 50 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. ”strong=”336|���� x-morph=”OSHM:HTj”�������|strong=”5355
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/4422|��������/���
x-morph=”OSHM:HC/VNq3ms” x-cantillationLevel=”0.0” ”strong=”b/1252|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3709|��/�������� x-morph=”OSHM:HNcfdc/Sp2ms”
x-cantillationLevel=”0”� �23 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-

cantillationLevel=”0”� 2 ”strong=”1571|���� x-morph=”OSHM:HTa”�����/����|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”4805|������
x-morph=”OSHM:HNcmsa” ”strong=”7879|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”3027|�/������ x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3513|��������� x-morph=”OSHM:HVqp3fs”
strong=”5921|��� a” x-morph=”OSHM:HR”�/����������|strong=”585”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”� 3 ”strong=”4310|����
x-morph=”OSHM:HTi”��������|strong=”5414” x-morph=”OSHM:HVqi3ms”
”strong=”3045|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”c/4672|���/���������/�� x-morph=”OSHM:HC/Vqi1cs/Sp3ms”
x-cantillationLevel=”1” ”strong=”935|�������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”��/�����������|strong=”8499”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 4 strong=”6186|����������
a” x-morph=”OSHM:HVqh1cs” ”strong=”l/6440|�/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/6310|�/���/��� x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”4390|��������� x-morph=”OSHM:HVpi1cs” strong=”8433|����������
b” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”� 5 ”strong=”3045|��������
x-morph=”OSHM:HVqh1cs” x-cantillationLevel=”1.0” ”strong=”4405|��������
x-morph=”OSHM:HNcfpa” strong=”6030|���/������� b” x-morph=”OSHM:HVqi3ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/995|���������/��� x-morph=”OSHM:HC/Vqh1cs”
x-cantillationLevel=”0.0” ”strong=”4100|��� x-morph=”OSHM:HTi”���������|strong=”559”
x-morph=”OSHM:HVqi3ms” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 6 strong=”d/b/7227|���/���/�� a” x-morph=”OSHM:HTi/R/Ncmsc”�������|strong=”3581
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” 51 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”7378|������� x-morph=”OSHM:HVqi3ms”
”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1”
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”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”389|���� x-morph=”OSHM:HTa”�������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0.0” strong=”7760|�������
a” x-morph=”OSHM:HVqi3ms” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 7 ”strong=”8033|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1” ”strong=”3477|������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.0” ”strong=”3198|������� x-morph=”OSHM:HVNrmsa”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/6403|�����������/�� x-morph=”OSHM:HC/Vph1cs” ”strong=”l/5331|������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”m/8199|�/���������/��
x-morph=”OSHM:HR/Vqrmsc/Sp1cs” x-cantillationLevel=”0”� 8 ”strong=”2005|����
x-morph=”OSHM:HTm” strong=”6924|������ a” x-morph=”OSHM:HNcmsa”
”strong=”1980|��������� x-morph=”OSHM:HVqi1cs” ”strong=”c/369|����/������/��
x-morph=”OSHM:HC/Tn/Sp3ms” x-cantillationLevel=”1” ”strong=”c/268|�������/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”c/3808|���/���
x-morph=”OSHM:HC/Tn”��������|strong=”995” x-morph=”OSHM:HVqi1cs”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 9
”strong=”8040|��������� x-morph=”OSHM:HNcmsa” strong=”b/6213|��/�������/���
a” x-morph=”OSHM:HR/Vqc/Sp3ms” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”2372”
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1” strong=”5848|��������
a” x-morph=”OSHM:HVqi3ms” ”strong=”3225|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”7200|�������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”�
10 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”1870|��������
x-morph=”OSHM:HNcbsa” ”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”974|���/��������� x-morph=”OSHM:HVqp3ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”k/2091|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”3318|������ x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”�
11 strong=”b/838|��/������/���� a” x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”270|�������� x-morph=”OSHM:HVqp3fs”
”strong=”7272|�/������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
”strong=”1870|��/�������� x-morph=”OSHM:HNcbsc/Sp3ms” ”strong=”8104|������������
x-morph=”OSHM:HVqp1cs” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�����|strong=”5186”
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”0”� 12 ”strong=”4687|��������
x-morph=”OSHM:HNcfsc” ”strong=”8193|�/��������� x-morph=”OSHM:HNcfdc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4185|�������� x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1”
”strong=”m/2706|�/������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”6845|����������� x-morph=”OSHM:HVqp1cs”
”strong=”561|������� x-morph=”OSHM:HNcmpc”�/�����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 13 ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” ”strong=”b/259|�����/��� x-morph=”OSHM:HR/Acmsa”
x-cantillationLevel=”1.0” ”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti”
”strong=”7725|����/��������� x-morph=”OSHM:HVhi3ms/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/5315|��/�������/�� x-morph=”OSHM:HC/Ncbsc/Sp3ms”
”strong=”183|��������� x-morph=”OSHM:HVpp3fs” strong=”c/6213|��������/��
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a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0”� 14 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0” strong=”7999|����������
a” x-morph=”OSHM:HVhi3ms” ”strong=”2706|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/k/2007|�������/��/�� x-morph=”OSHM:HC/R/Pp3fp”
strong=”7227|�������� a” x-morph=”OSHM:HAafpa” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 15 strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm”
x-cantillationLevel=”1.0” ”strong=”m/6440|�/�������/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
”strong=”926|��������� x-morph=”OSHM:HVNi1cs” x-cantillationLevel=”1”
”strong=”995|������������� x-morph=”OSHM:HVri1cs” x-cantillationLevel=”0.0”
”strong=”c/6342|��������/�� x-morph=”OSHM:HC/Vqi1cs” strong=”4480|����/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 16 ”strong=”c/410|���/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0” ”strong=”7401|�������
x-morph=”OSHM:HVhp3ms” strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/7706|��������/��� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”926|���/���������� x-morph=”OSHM:HVhp3ms/Sp1cs”
x-cantillationLevel=”0”� 17 strong=”3588|����� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”6789|����������� x-morph=”OSHM:HVNp1cs”
x-cantillationLevel=”1.0” ”strong=”m/6440|������/�� x-morph=”OSHM:HR/Ncbpc”���������|strong=”2822”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/m/6440|�/������/��/���
x-morph=”OSHM:HC/R/Ncbpc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”3680|�������
x-morph=”OSHM:HVpp3ms”�������|strong=”652” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”�24 ”strong=”4069|��������� x-morph=”OSHM:HTi” x-cantillationLevel=”1.1”

”strong=”m/7706|��������/��� x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”������������|strong=”6845”

x-morph=”OSHM:HVNp3cp” ”strong=”6256|�������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1” ”strong=”c/3045|�/���/� x-morph=”OSHM:HC/Vqrmsc/Sp3ms”
x-wType=”x-ketiv” 52 ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”2372”
x-morph=”OSHM:HVqp3cp” ”strong=”3117|�/������ x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0”� 2 ”strong=”1367|���������� x-morph=”OSHM:HNcfpa”
”strong=”5381|����������� x-morph=”OSHM:HVhi3mp” x-cantillationLevel=”1”
”strong=”5739|������ x-morph=”OSHM:HNcmsa” ”strong=”1497|����������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” strong=”c/7462|���������/��
b” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”� 3 ”strong=”2543|�������
x-morph=”OSHM:HNcbsc” ”strong=”3490|���������� x-morph=”OSHM:HNcmpa”
strong=”5090|���������� a” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
strong=”2254|������������ a” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.0”
”strong=”7794|������ x-morph=”OSHM:HNcmsc” ”strong=”490|����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 4 ”strong=”5186|�������
x-morph=”OSHM:HVhi3mp” ”strong=”34|������������ x-morph=”OSHM:HAampa”
”strong=”m/1870|��������/�� x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”1”
strong=”3162|������ a” x-morph=”OSHM:HD” ”strong=”2244|����������
52+ ”strong=”c/3045|�/��������/����/���/� x-morph=”OSHM:HC/Vqrmpc/Sp3ms”
x-cantillationLevel=”0.0”
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x-morph=”OSHM:HVPp3cp” x-cantillationLevel=”0.0” ”strong=”6035|��������
x-morph=”OSHM:HAampc”�������|strong=”776” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 5 ”strong=”2005|���� x-morph=”OSHM:HTm”
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b” x-morph=”OSHM:HR/Ncmsa” ”strong=”3490|������� x-morph=”OSHM:HNcmsa”
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53+ strong=”7114|����������������� b” x-morph=”OSHM:HVqi3mp” x-
cantillationLevel=”1”
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x-cantillationLevel=”1” ”strong=”c/490|����������/��� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3190|���������
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strong=”5158|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0”
� strong=”m/5973|���/��� b” x-morph=”OSHM:HR/R”������|strong=”1481
a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0” ”strong=”d/7911|��������������/���
x-morph=”OSHM:HTd/VNrmpa” strong=”4480|������ a” x-morph=”OSHM:HR”�������|strong=”7272”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”1809|��������
x-morph=”OSHM:HVqp3cp” ”strong=”m/582|��������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”5128|������ x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”�
5 ”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs” ”strong=”3318|������
x-morph=”OSHM:HVqi3ms”�������|strong=”3899” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”c/8478|��/���������/��� x-morph=”OSHM:HC/R/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”2015|���������� x-morph=”OSHM:HVNp3ms”
”strong=”3644|������ x-morph=”OSHM:HR”������|strong=”784” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 6 ”strong=”4725|������ x-morph=”OSHM:HNcmsc”���������|strong=”5601”
x-morph=”OSHM:HNcmsa” ”strong=”68|��/�������� x-morph=”OSHM:HNcfpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/6083|��������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”2091|������ x-morph=”OSHM:HNcmsa” ”strong=”l|��/�� x-
morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 7 strong=”5410|�������
a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn”��/�������|strong=”3045” x-morph=”OSHM:HVqp3ms/Sp3ms”
”strong=”5861|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”7805|��/�����������
x-morph=”OSHM:HVqp3fs/Sp3ms” x-cantillationLevel=”0.0” strong=”5869|�����
a” x-morph=”OSHM:HNcbsc” ”strong=”344|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 8 ”strong=”3808|���� x-morph=”OSHM:HTn”���/�����������|strong=”1869”
x-morph=”OSHM:HVhp3cp/Sp3ms” strong=”1121|����� a” x-morph=”OSHM:HNcmpc”��������|strong=”7830”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”3808|���� x-
morph=”OSHM:HTn”�������|strong=”5710 a” x-morph=”OSHM:HVqp3ms”
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” ”strong=”7826|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 9 ”strong=”b/2496|����������/�����
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”7971|�������
x-morph=”OSHM:HVqp3ms” ”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms”
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x-cantillationLevel=”1” ”strong=”2015|������� x-morph=”OSHM:HVqp3ms”
”strong=”m/8328|���������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”2022|�������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� 10 ”strong=”b/6697|��������/����
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”2975|���������
x-morph=”OSHM:HNcmpa” ”strong=”1234|��������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”3366”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”7200|��������
x-morph=”OSHM:HVqp3fs” strong=”5869|��/����� a” x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� 11 ”strong=”m/1065|������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”5104|��������� x-morph=”OSHM:HNcmpa”
”strong=”2280|�������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1”
”strong=”c/8587|�����������/��� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.0”
59 BHS has been faithful to the Leningrad Codex where there might be a ques-
tion of the validity of the form andwe keep the same form as BHS. ”strong=”3318|������
x-morph=”OSHM:HVhi3ms” ”strong=”216|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� � 12 ”strong=”c/d/2451|�������/��/���� x-
morph=”OSHM:HC/Td/Ncfsa” x-cantillationLevel=”1.0” ”strong=”m/370|������/��
x-morph=”OSHM:HR/Ti” ”strong=”4672|���������� x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”1” ”strong=”c/335|����/�� x-morph=”OSHM:HC/Ti”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0”
”strong=”4725|������� x-morph=”OSHM:HNcmsc” ”strong=”998|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 13 ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”3045” x-morph=”OSHM:HVqp3ms”
”strong=”582|�������� x-morph=”OSHM:HNcmsa” ”strong=”6187|��/��������
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|���������� x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”0.0” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc”
strong=”d/2416|��������/��� a” x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0”�
14 ”strong=”8415|�������� x-morph=”OSHM:HNcbsa” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”b|�/�� x-morph=”OSHM:HR/Sp1cs”������|strong=”1931”
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1” ”strong=”c/3220|����/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”559|������� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”5978|�/��������
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 15 ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”5414” x-morph=”OSHM:HVHi3ms”
”strong=”5458|������� x-morph=”OSHM:HNcmsa” ”strong=”8478|��/����������
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”8254|����������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”0.0” ”strong=”3701|������� x-morph=”OSHM:HNcmsa”
”strong=”4242|��/�������� x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”�
16 ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”5541
b” x-morph=”OSHM:HVPi3fs” x-cantillationLevel=”1.0” ”strong=”b/3800|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”211|�������� x-morph=”OSHM:HNp”
591
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x-cantillationLevel=”1” ”strong=”b/7718|�������/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”3368|������ x-morph=”OSHM:HAamsa” ”strong=”c/5601|��������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”� 17 ”strong=”3808|���
x-morph=”OSHM:HTn”����/����������|strong=”6186 a” x-morph=”OSHM:HVqi3ms/Sp3fs”
”strong=”2091|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”c/2137|����������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1”
”strong=”c/8545|��/�����������/�� x-morph=”OSHM:HC/Ncfsc/Sp3fs”
”strong=”3627|������ x-morph=”OSHM:HNcmsc”�����|strong=”6337”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 18 ”strong=”7215|��������
x-morph=”OSHM:HNcfpa” ”strong=”c/1378|�������/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2142|���������
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1” ”strong=”c/4901|��������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”2451|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”m/6443|�����������/�� x-morph=”OSHM:HR/Ncbpa”
x-cantillationLevel=”0”� 19 ”strong=”3808|���� x-morph=”OSHM:HTn”����/����������|strong=”6186
a” x-morph=”OSHM:HVqi3ms/Sp3fs” x-cantillationLevel=”1.0” ”strong=”6357|��������
x-morph=”OSHM:HNcfsc”��������|strong=”3568 a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”b/3800|������/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”2889|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”5541|���������
b” x-morph=”OSHM:HVPi3fs” x-cantillationLevel=”0”� � 20 ”strong=”c/d/2451|�������/��/����
x-morph=”OSHM:HC/Td/Ncfsa” x-cantillationLevel=”1.0” ”strong=”m/370|������/��
x-morph=”OSHM:HR/Ti” ”strong=”935|�������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1” ”strong=”c/335|����/�� x-morph=”OSHM:HC/Ti”
”strong=”2088|����� x-morph=”OSHM:HPdxms” x-cantillationLevel=”0.0”
”strong=”4725|������� x-morph=”OSHM:HNcmsc” ”strong=”998|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 21 ”strong=”c/5956|���������/����
x-morph=”OSHM:HC/VNp3fs” x-cantillationLevel=”1.0” strong=”m/5869|�������/��
a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”�����|strong=”2416
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/m/5775|�����/��/��
x-morph=”OSHM:HC/R/Ncmsc” ”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”5641|����������� x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”0”�
22 ”strong=”11|���������� x-morph=”OSHM:HNp” ”strong=”c/4194|�����/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0” ”strong=”559|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”b/241|���/��������/����
x-morph=”OSHM:HR/Ncfdc/Sp1cp” x-cantillationLevel=”0.0” ”strong=”8085|�����������
x-morph=”OSHM:HVqp1cp” strong=”8088|��/�������� b” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 23 ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”995|������� x-morph=”OSHM:HVhp3ms”
”strong=”1870|��/��������� x-morph=”OSHM:HNcbsc/Sp3fs” x-cantillationLevel=”1”
”strong=”c/1931|�����/��� x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.0”
”strong=”3045|������ x-morph=”OSHM:HVqp3ms” ”strong=”853|��� x-
morph=”OSHM:HTo”��/���������|strong=”4725” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 24 strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”1931”
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x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.0” 60We read one ormore
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. ”strong=”l/7098|������/�� x-morph=”OSHM:HR/Ncbpc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” ”strong=”5027|�������� x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”1” ”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����������/���|strong=”d/8064” x-morph=”OSHM:HTd/Ncmpa”
”strong=”7200|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
25 strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”l/7307|������/��
x-morph=”OSHM:HRd/Ncbsa” ”strong=”4948|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/4325|������/��� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”8505|�������� x-morph=”OSHM:HVpp3ms”
strong=”b/4060|�������/��� a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”�
26 strong=”b/6213|��/�������/��� a” x-morph=”OSHM:HR/Vqc/Sp3ms”
61We read one ormore vowels in L differently from BHS. ”strong=”l/4306|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”2706|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/1870|�������/��� x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”l/2385|�������/�� x-morph=”OSHM:HR/Ncmsc”
strong=”6963|������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
27 strong=”227|���� a” x-morph=”OSHM:HD” ”strong=”7200|��/�����
x-morph=”OSHM:HVqp3ms/Sp3fs” x-cantillationLevel=”1.0” strong=”c/5608|��/����������/���
a” x-morph=”OSHM:HC/Vpw3ms/Sp3fs” x-cantillationLevel=”1” strong=”3559|��/���������
a” x-morph=”OSHM:HVhp3ms/Sp3fs” x-cantillationLevel=”0.0” ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”��/��������|strong=”2713” x-morph=”OSHM:HVqp3ms/Sp3fs”
x-cantillationLevel=”0”� 28 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” � ”strong=”l/120|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”2005|���� x-morph=”OSHM:HTm” ”strong=”3374|��������
x-morph=”OSHM:HNcfsc” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
”strong=”2451|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”c/5493|�����/�� x-morph=”OSHM:HC/Vqc” strong=”m/7451|����/��
b” x-morph=”OSHM:HR/Aamsa” ”strong=”998|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� �29 ”strong=”c/3254|�������/�� x-morph=”OSHM:HC/Vhw3ms”

”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5375|������� x-morph=”OSHM:HVqc” ”strong=”4912|��/�������

x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0”� 2 ”strong=”4310|����
x-morph=”OSHM:HTi”���/���������|strong=”5414” x-morph=”OSHM:HVqi3ms/Sp1cs”
”strong=”k/3391|�������/�� x-morph=”OSHM:HR/Ncmpc”�������|strong=”6924
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”k/3117|�����/����
x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”0.0” ”strong=”433|���������
x-morph=”OSHM:HNcmsa” ”strong=”8104|���/���������� x-morph=”OSHM:HVqi3ms/Sp1cs”
x-cantillationLevel=”0”� 3 strong=”b/1984|��/�����/��� a” x-morph=”OSHM:HR/Vhc/Sp3ms”
60c
61v
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strong=”5216|��/���� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0”
strong=”5921|������ a” x-morph=”OSHM:HR” strong=”7218|�/�������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”l/216|��/����/���
x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3212|�������
x-morph=”OSHM:HVqi1cs” ”strong=”2822|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 4 strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”1961|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmpc” ”strong=”2779|�/��������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”b/5475|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”433|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”5921|������ a” x-morph=”OSHM:HR”
”strong=”168|�/������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
5 ”strong=”b/5750|�����/��� x-morph=”OSHM:HR/D” ”strong=”7706|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”5978|�/��������
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”5439|�/������������
x-morph=”OSHM:HNcbpc/Sp1cs” ”strong=”5288|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0”� 6 ”strong=”b/7364|������/��� x-morph=”OSHM:HR/Vqc”
”strong=”1978|�/�������� x-morph=”OSHM:HNcmpc/Sp1cs” strong=”b/2529|������/���
a” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1” ”strong=”c/6697|�����/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”6694|������� x-morph=”OSHM:HVqi3ms”
”strong=”5978|�/��������� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”6388|�������� x-morph=”OSHM:HNcmpc”��������|strong=”8081”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 7 ”strong=”b/3318|�/������/���
x-morph=”OSHM:HR/Vqc/Sp1cs” ”strong=”8179|������� x-morph=”OSHM:HNcmsa”
strong=”5921|����� a” x-morph=”OSHM:HR”�������|strong=”7176” x-
morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”b/7339|�������/����
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.0” strong=”3559|�������
a” x-morph=”OSHM:HVhi1cs” ”strong=”4186|�/��������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 8 ”strong=”7200|���/������ x-morph=”OSHM:HVqp3cp/Sp1cs”
”strong=”5288|��������� x-morph=”OSHM:HNcmpa” ”strong=”c/2244|�����������/��
x-morph=”OSHM:HC/VNp3cp” x-cantillationLevel=”1” ”strong=”c/3453|����������/����
x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”0.0” strong=”6965|������
b” x-morph=”OSHM:HVqp3cp” ”strong=”5975|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 9 ”strong=”8269|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” ”strong=”6113|�������� x-morph=”OSHM:HVqp3cp”
”strong=”b/4405|��������/�� x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”1”
”strong=”c/3709|����/��� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.0”
strong=”7760|���������� a” x-morph=”OSHM:HVqi3mp” ”strong=”l/6310|����/���/��
x-morph=”OSHM:HR/Ncmsc/Sp3mp” x-cantillationLevel=”0”� 10 strong=”6963|����
a” x-morph=”OSHM:HNcmsc”�����������|strong=”5057” x-morph=”OSHM:HNcmpa”
”strong=”2244|����������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1”
”strong=”c/3956|�/���������/��� x-morph=”OSHM:HC/Ncbsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”l/2441|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3mp”
”strong=”1692|��������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0”�
11 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”241|������
x-morph=”OSHM:HNcfsa” ”strong=”8085|��������� x-morph=”OSHM:HVqp3fs”



CONTENTS 101

x-cantillationLevel=”1.0” ”strong=”c/833|���/������������/��� x-morph=”OSHM:HC/Vpw3fs/Sp1cs”
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x-morph=”OSHM:HC/Tn” strong=”6030|���/������� b” x-morph=”OSHM:HVqi2ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”5975|������������ x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.0” ”strong=”c/995|������������/�� x-morph=”OSHM:HC/Vrw2ms”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
21 ”strong=”2015|���������� x-morph=”OSHM:HVNi2ms” ”strong=”l/393|��������/��
x-morph=”OSHM:HR/Aamsa” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”b/6108|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3027|���/���� x-morph=”OSHM:HNcbsc/Sp2ms” ”strong=”7852|���/����������
x-morph=”OSHM:HVqi2ms/Sp1cs” x-cantillationLevel=”0”� 22 ”strong=”5375|���/����������
x-morph=”OSHM:HVqi2ms/Sp1cs” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”7307”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0” 64We read one or more
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. ”strong=”7392|���/������������ x-morph=”OSHM:HVhi2ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/4127|���/���������/��� x-morph=”OSHM:HC/Voi2ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”7738|���� x-morph=”OSHM:HVPi2ms”
x-wType=”x-ketiv” 65 � 23 strong=”3588|����� a” x-morph=”OSHM:HC”������������|strong=”3045”
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”4194|������
x-morph=”OSHM:HNcmsa” ”strong=”7725|���/���������� x-morph=”OSHM:HVhi2ms/Sp1cs”
x-cantillationLevel=”1” strong=”c/1004|�����/�� b” x-morph=”OSHM:HC/Ncmsc”
”strong=”4150|������� x-morph=”OSHM:HNcmsa” ”strong=”l/3605|���/��
63c
64c
65+ ”strong=”8454|���������������� x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0”
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x-morph=”OSHM:HR/Ncmsc”�����|strong=”2416 a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 24 ”strong=”389|����� x-morph=”OSHM:HTa”
”strong=”3808|��� x-morph=”OSHM:HTn”���/����|strong=”b/1164” x-
morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0” ”strong=”7971|��������
x-morph=”OSHM:HVqi3ms”�����|strong=”3027” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”��/�����/�����|strong=”b/6365”
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3860|������
x-morph=”OSHM:HC” ”strong=”7769|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 25 strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”1058|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”l/7186|������/�� x-morph=”OSHM:HR/Aamsc”������|strong=”3117”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”5701|���������
x-morph=”OSHM:HVqp3fs” ”strong=”5315|�/��������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/34|���������/�� x-morph=”OSHM:HRd/Aamsa”
x-cantillationLevel=”0”� 26 strong=”3588|����� a” x-morph=”OSHM:HC”
strong=”2896|����� b” x-morph=”OSHM:HAamsa” strong=”6960|����������
a” x-morph=”OSHM:HVpp1cs” x-cantillationLevel=”1.0” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”7451|���� b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”c/3176|����������/��� x-morph=”OSHM:HC/Vph1cs”
”strong=”l/216|�����/��� x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.0”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”652|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 27 ”strong=”4578|�/�����
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”7570|��������� x-morph=”OSHM:HVPp3cp”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”1826
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”6923|���/��������
x-morph=”OSHM:HVpp3cp/Sp1cs” ”strong=”3117|����� x-morph=”OSHM:HNcmpc”�������|strong=”6040”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 28 ”strong=”6937|������
x-morph=”OSHM:HVqrmsa” ”strong=”1980|������������ x-morph=”OSHM:HVpp1cs”
x-cantillationLevel=”1.0” ”strong=”b/3808|����/��� x-morph=”OSHM:HR/Tn”
”strong=”2535|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
strong=”6965|��������� b” x-morph=”OSHM:HVqp1cs” ”strong=”b/6951|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”7768|����������� x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”0”� 29 ”strong=”251|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”1961|��������� x-morph=”OSHM:HVqp1cs”
strong=”l/8577|��������/�� a” x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1”
”strong=”c/7453|�����/��� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/1323|�������/�� x-morph=”OSHM:HR/Ncfpc” ”strong=”3284|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 30 ”strong=”5785|�/������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0” 66 We read one
or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”7835|������� x-morph=”OSHM:HVqp3ms”
strong=”m/5921|�/�����/�� a” x-morph=”OSHM:HR/R/Sp1cs” x-cantillationLevel=”1”
”strong=”c/6106|�/������/�� x-morph=”OSHM:HC/Ncfsc/Sp1cs”��������|strong=”2787”
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0” strong=”4480|������
66c
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a” x-morph=”OSHM:HR”�������|strong=”2721 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 31 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l/60|�����/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3658|�/��������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/5748|�/�������/��� x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-
cantillationLevel=”0.0” strong=”l/6963|�����/�� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”1058|�������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0”�

31 ”strong=”1285|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
”strong=”3772|���������� x-morph=”OSHM:HVqp1cs” strong=”l/5869|�/������/��
a” x-morph=”OSHM:HR/Ncbdc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/4100|����/��

x-morph=”OSHM:HC/Ti” ”strong=”995|������������� x-morph=”OSHM:HVri1cs”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”1330”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 2 ”strong=”c/4100|����/��
x-morph=”OSHM:HC/Ti” x-cantillationLevel=”1.0” � strong=”2506|������
a” x-morph=”OSHM:HNcmsc” ”strong=”433|��������� x-morph=”OSHM:HNcmsa”
”strong=”m/4605|�������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”1”
”strong=”c/5159|��������/��� x-morph=”OSHM:HC/Ncfsc” ”strong=”7706|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”m/4791|����������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0”� 3 ”strong=”i/3808|���/��
x-morph=”OSHM:HTi/Tn”������|strong=”343” x-morph=”OSHM:HNcmsa”
”strong=”l/5767|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
”strong=”c/5235|������/��� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l/6466|��������/�� x-morph=”OSHM:HR/Vqrmpc” ”strong=”205|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 4 ”strong=”i/3808|���/��
x-morph=”OSHM:HTi/Tn”������|strong=”1931” x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.0” 67We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”7200|��������
x-morph=”OSHM:HVqi3ms” ”strong=”1870|�/������� x-morph=”OSHM:HNcbpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/3605|���/��� x-morph=”OSHM:HC/Ncmsc”�/��������|strong=”6806”
x-morph=”OSHM:HNcmpc/Sp1cs” strong=”5608|���������� a” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 5 strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”1980”
x-morph=”OSHM:HVqp1cs” strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”7723”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”c/2363|��������/��
a” x-morph=”OSHM:HC/Vqw3fs” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”4820”
x-morph=”OSHM:HNcfsa” ”strong=”7272|�/������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0”� 6 ”strong=”8254|���/���������� x-morph=”OSHM:HVqi3ms/Sp1cs”
”strong=”b/3976|��������/�� x-morph=”OSHM:HR/Ncmdc”�������|strong=”6664”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/3045|������/��
x-morph=”OSHM:HC/Vqi3ms” ”strong=”433|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”8538|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0”� 7 strong=”518|���� a” x-morph=”OSHM:HC”
”strong=”5186|�������� x-morph=”OSHM:HVqi3fs” strong=”838|��/��������
b” x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”2.0” strong=”4480|�������
67c
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a” x-morph=”OSHM:HR” ”strong=”d/1870|��������/��� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”2” strong=”c/310|������/�� a” x-morph=”OSHM:HC/R”
strong=”5869|�/������ a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.0”
”strong=”1980|������� x-morph=”OSHM:HVqp3ms” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/b/3709|�/������/��/���
x-morph=”OSHM:HC/R/Ncfdc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”1692|�������
x-morph=”OSHM:HVqp3ms” strong=”3971|������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 68 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. � 8 ”strong=”2232|���������� x-morph=”OSHM:HVqh1cs”
x-cantillationLevel=”1.0” ”strong=”c/312|������/�� x-morph=”OSHM:HC/Aamsa”
”strong=”398|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
”strong=”c/6631|�/���������/��� x-morph=”OSHM:HC/Ncmpc/Sp1cs”
”strong=”8327|������������ x-morph=”OSHM:HVPi3mp” x-cantillationLevel=”0”�
9 strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”6601
b” x-morph=”OSHM:HVNp3ms” strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”802”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��������|strong=”6607” x-morph=”OSHM:HNcmsc”
”strong=”7453|�/����� x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”693|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0”� 10 ”strong=”2912|���������
x-morph=”OSHM:HVqi3fs” ”strong=”l/312|������/�� x-morph=”OSHM:HR/Aamsa”
”strong=”802|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1”
strong=”c/5921|��/������/��� a” x-morph=”OSHM:HC/R/Sp3fs” x-cantillationLevel=”0.0”
”strong=”3766|�/���������� x-morph=”OSHM:HVqi3mp/Sn” ”strong=”312|���������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”� 11 strong=”3588|����
a” x-morph=”OSHM:HC”����|strong=”1931” x-morph=”OSHM:HPp3ms”
x-wType=”x-ketiv” 69 ”strong=”2154|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/1931|���/� x-morph=”OSHM:HC/Pp3fs”
x-wType=”x-ketiv” 70 ”strong=”5771|������ x-morph=”OSHM:HNcbsa”
”strong=”6414|����������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
12 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”784|����� x-
morph=”OSHM:HNcbsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”�����������|strong=”11”
x-morph=”OSHM:HNp” ”strong=”398|�������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1” ”strong=”c/b/3605|���/��/��� x-morph=”OSHM:HC/R/Ncmsc”�/�������������|strong=”8393”
x-morph=”OSHM:HNcfsc/Sp1cs” ”strong=”8327|���������� x-morph=”OSHM:HVpi3fs”
x-cantillationLevel=”0”� 13 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3988
a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.1” ”strong=”4941|����������
x-morph=”OSHM:HNcmsc” ”strong=”5650|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”c/519|�/�������/�� x-morph=”OSHM:HC/Ncfsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”b/7378|�/�����/���� x-morph=”OSHM:HR/VNc/Sp3mp”
681
69+ ”strong=”1931|�������� x-morph=”OSHM:HPp3fs”
70+ ”strong=”c/1931|�����/������/� x-morph=”OSHM:HC/Pp3ms” x-
cantillationLevel=”0.0”
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x-cantillationLevel=”0.0” ”strong=”5978|�/�������� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 14 ”strong=”c/4100|����/�� x-morph=”OSHM:HC/Ti”
strong=”6213|���������� a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0”
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”6965
b” x-morph=”OSHM:HVqi3ms” ”strong=”410|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C”����������|strong=”6485
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”4100|����
x-morph=”OSHM:HTi” ”strong=”7725|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”0”� 15 ”strong=”i/3808|���/���� x-morph=”OSHM:HTi/Tn”������/����|strong=”b/990”
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0” strong=”6213|���/������
a” x-morph=”OSHM:HVqrmsc/Sp1cs” strong=”6213|���/������ a” x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”1” strong=”c/3559|����/�������/��� a” x-morph=”OSHM:HC/Vow3ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”b/7358|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0”�
16 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”4513”
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0” ”strong=”m/2656|������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”1800|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” strong=”c/5869|�������/�� a” x-morph=”OSHM:HC/Ncbdc”
”strong=”490|���������� x-morph=”OSHM:HNcfsa” ”strong=”3615|���������
x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”0”� 17 ”strong=”c/398|������/��
x-morph=”OSHM:HC/Vqi1cs” strong=”6595|�/������� a” x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”l/905|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”398”
x-morph=”OSHM:HVqp3ms” ”strong=”3490|������� x-morph=”OSHM:HNcmsa”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
18 strong=”3588|����� a” x-morph=”OSHM:HC” strong=”m/5271|�/��������/���
a” x-morph=”OSHM:HR/Ncbpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”1431|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cs” ”strong=”k/1|����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/m/990|�������/��/�� x-morph=”OSHM:HC/R/Ncfsc”
”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs” ”strong=”5148|����/�������
x-morph=”OSHM:HVhi1cs/Sp3fs” x-cantillationLevel=”0”� 19 strong=”518|���
a” x-morph=”OSHM:HC”���������|strong=”7200” x-morph=”OSHM:HVqi1cs”
”strong=”6|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
71 We read one or more accents in L differently than BHS. Often this notation
indicates a typographical error in BHS. ”strong=”m/1097|�������/�� x-
morph=”OSHM:HR/Ncmsc” ”strong=”3830|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”3682|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”l/34|���������/�� x-morph=”OSHM:HRd/Aamsa” x-cantillationLevel=”0”�
20 strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn”
”strong=”1288|���/�������� x-morph=”OSHM:HVpp3cp/Sp1cs” ”strong=”2504|�/���
x-morph=”OSHM:HNcbdc/Sp3ms” x-wType=”x-ketiv” 72 ”strong=”c/m/1488|�����/��/��

71c
72+ ”strong=”2504|�/���������/��� x-morph=”OSHM:HNcbdc/Sp3ms” x-
cantillationLevel=”1”
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x-morph=”OSHM:HC/R/Ncmsc” ”strong=”3532|�/��������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”2552|����������� x-morph=”OSHM:HVti3ms”
x-cantillationLevel=”0”� 21 strong=”518|��� a” x-morph=”OSHM:HC”�������������|strong=”5130
b” x-morph=”OSHM:HVhp1cs” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”3490”
x-morph=”OSHM:HNcmsa” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”7200”
x-morph=”OSHM:HVqi1cs” ”strong=”b/8179|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”5833|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0”� 22 ”strong=”3802|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”m/7929|�/���������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
”strong=”5307|�������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1”
”strong=”c/248|�/���������/��� x-morph=”OSHM:HC/Ncfsc/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”m/7070|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3fs”
”strong=”7665|���������� x-morph=”OSHM:HVNi3fs” x-cantillationLevel=”0”�
23 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6343|������
x-morph=”OSHM:HNcmsa” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”343|����� x-morph=”OSHM:HNcmsc”
”strong=”410|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/m/7613|��/��������/��/���
x-morph=”OSHM:HC/R/Ncfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3201|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 24 strong=”518|��� a” x-morph=”OSHM:HC”�����������|strong=”7760
a” x-morph=”OSHM:HVqp1cs” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
”strong=”3689|�/�������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/l/3800|�������/��/��� x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”559|����������� x-morph=”OSHM:HVqp1cs”
”strong=”4009|�/��������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
25 strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”8055”
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0” strong=”3588|����
a” x-morph=”OSHM:HC”�����|strong=”7227 a” x-morph=”OSHM:HAamsa”
”strong=”2428|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
strong=”c/3588|����/�� a” x-morph=”OSHM:HC/C”����������|strong=”3524”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”4672|��������
x-morph=”OSHM:HVqp3fs” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� 26 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”7200”
x-morph=”OSHM:HVqi1cs” ”strong=”216|����� x-morph=”OSHM:HNcbsa”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”1984|������ a”
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1” ”strong=”c/3394|�������/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”3368|������
x-morph=”OSHM:HAamsa” ”strong=”1980|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 27 strong=”c/6601|���������/�� b” x-morph=”OSHM:HC/Vqw3ms”
strong=”b/5643|�������/��� a” x-morph=”OSHM:HRd/Ncmsa” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” strong=”c/5401|���������/��
a” x-morph=”OSHM:HC/Vqw3fs” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
”strong=”l/6310|�/���/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0”�
28 ”strong=”1571|���� x-morph=”OSHM:HTa”������|strong=”1931” x-
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morph=”OSHM:HPp3ms” x-cantillationLevel=”1.0” 73 We read one or more
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. ”strong=”5771|������ x-morph=”OSHM:HNcbsa” ”strong=”6416|����������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC”�������������|strong=”3584” x-morph=”OSHM:HVpp1cs”
”strong=”l/410|����/�� x-morph=”OSHM:HRd/Ncmsa” ”strong=”m/4605|�������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0”� 29 strong=”518|��� a”
x-morph=”OSHM:HC”����������|strong=”8055” x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”1.0” ”strong=”b/6365|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”8130|�/���������� x-morph=”OSHM:HVprmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/5782|���������������/��� x-morph=”OSHM:HC/Vrq1cs”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC”��/�������|strong=”4672”
x-morph=”OSHM:HVqp3ms/Sp3ms” strong=”7451|���� b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 30 ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”5414”
x-morph=”OSHM:HVqp1cs” ”strong=”l/2398|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”2441|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”l/7592|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”b/423|������/���
x-morph=”OSHM:HR/Ncfsa” ”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0”� 31 strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”559|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”4962|������ x-morph=”OSHM:HNcmpc”
”strong=”168|�/������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”4310|���� x-morph=”OSHM:HTi”��������|strong=”5414” x-
morph=”OSHM:HVqi3ms” ”strong=”m/1320|��/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7646|����������
x-morph=”OSHM:HVNsmsa” x-cantillationLevel=”0”� 32 ”strong=”b/2351|����/����
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”3885 a” x-morph=”OSHM:HVqi3ms”
”strong=”1616|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”1817|�/��������� c” x-morph=”OSHM:HNcfdc/Sp1cs” x-cantillationLevel=”0.0”
”strong=”l/734|������/�� x-morph=”OSHM:HRd/Ncbsa” strong=”6605|���������
a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”� 33 strong=”518|���
a” x-morph=”OSHM:HC”������������|strong=”3680” x-morph=”OSHM:HVpp1cs”
”strong=”k/121|������/�� x-morph=”OSHM:HR/Np” ”strong=”6588|�/���������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1” ”strong=”l/2934|�������/��
x-morph=”OSHM:HR/Vqc” ”strong=”b/2243|�/������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
”strong=”5771|�/������� x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”�
34 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6206|����������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0.0” � strong=”1995|��������
a” x-morph=”OSHM:HNcmsa” strong=”7227|������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1.0” ”strong=”c/937|����/�� x-morph=”OSHM:HC/Ncmsc”��������������|strong=”4940”
x-morph=”OSHM:HNcfpa” ”strong=”2865|���/�������� x-morph=”OSHM:HVhi3ms/Sp1cs”
x-cantillationLevel=”1” strong=”c/1826|�������/��� a” x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”3318”
73c
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x-morph=”OSHM:HVqi1cs” ”strong=”6607|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 35 ”strong=”4310|���� x-morph=”OSHM:HTi”
”strong=”5414|������ x-morph=”OSHM:HVqi3ms”�/����|strong=”l” x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0” � ”strong=”8085|����������
x-morph=”OSHM:HVqrmsa” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”2005|��� x-morph=”OSHM:HTj”�/�������|strong=”8420”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”7706|��������
x-morph=”OSHM:HNp” strong=”6030|���/������� b” x-morph=”OSHM:HVqi3ms/Sp1cs”
x-cantillationLevel=”1” strong=”c/5612|������/�� a” x-morph=”OSHM:HC/Ncmsa”
”strong=”3789|�������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsc” ”strong=”7379|�/������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0”� 36 strong=”518|���
a” x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn” strong=”5921|���
a” x-morph=”OSHM:HR”�/���������|strong=”7926” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”5375|����/��������� x-morph=”OSHM:HVqi1cs/Sp3ms”
x-cantillationLevel=”1” ”strong=”6029|����/���������� x-morph=”OSHM:HVqi1cs/Sp3ms”
”strong=”5850|��������� x-morph=”OSHM:HNcfpa” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 37 ”strong=”4557|���������
x-morph=”OSHM:HNcmsc” ”strong=”6806|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”5046|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”1” ”strong=”3644|������ x-morph=”OSHM:HR”���������|strong=”5057”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”7126|����/���������
x-morph=”OSHM:HVpi1cs/Sp3ms” x-cantillationLevel=”0”� 38 strong=”518|���
a” x-morph=”OSHM:HC”�/������|strong=”5921 a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”127|�/��������� x-morph=”OSHM:HNcfsc/Sp1cs”
”strong=”2199|�������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1”
strong=”c/3162|������/��� a” x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0”
”strong=”8525|��/��������� x-morph=”OSHM:HNcmpc/Sp3fs” ”strong=”1058|�/�����������
x-morph=”OSHM:HVqi3mp/Sn” x-cantillationLevel=”0”� 39 strong=”518|���
a” x-morph=”OSHM:HC”��/�������|strong=”3581 b” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.0” 74We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”398|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”1097|����� x-morph=”OSHM:HTn”�������|strong=”3701”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/5315|�������/��
x-morph=”OSHM:HC/Ncbsc” ”strong=”1167|��/��������� x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”5301|������������ x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”0”�
40 ”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”2406|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0” � ”strong=”3318|������
x-morph=”OSHM:HVqi3ms” ”strong=”2336|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”c/8478|������/�� x-morph=”OSHM:HC/R”����������|strong=”8184”
x-morph=”OSHM:HNcfsa” ”strong=”890|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”8552|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”1697|��������� x-morph=”OSHM:HNcmpc”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
74c
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�32 strong=”c/7673|�������������/��� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0.0” ”strong=”7969|���������� x-morph=”OSHM:HAcmsc”
”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”

”strong=”d/428|������/��� x-morph=”OSHM:HTd/Pdxcp” x-cantillationLevel=”1.0”
strong=”m/6030|�������/�� b” x-morph=”OSHM:HR/Vqc” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”347” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”6662|�������� x-morph=”OSHM:HAamsa”
strong=”b/5869|�/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp3ms”
x-cantillationLevel=”0”� � 2 ”strong=”c/2734|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”639|���� x-morph=”OSHM:HTa” x-cantillationLevel=”2.0.0” �
”strong=”453|���������� x-morph=”OSHM:HNp” strong=”1121|��� a”
x-morph=”OSHM:HNcmsc”������������|strong=”1292” x-morph=”OSHM:HNp”
”strong=”d/940|��������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”2.0”
”strong=”m/4940|��������������/�� x-morph=”OSHM:HR/Ncfsc” ”strong=”7410|����
x-morph=”OSHM:HNp” x-cantillationLevel=”2” ”strong=”b/347|�������/����
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”2734|������
x-morph=”OSHM:HVqp3ms” ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” strong=”5921|���� a” x-morph=”OSHM:HR”��/��������|strong=”6663”
x-morph=”OSHM:HVpc/Sp3ms” ”strong=”5315|��/�������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”m/430|���������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� 3 ”strong=”c/b/7969|����������/��/�� x-
morph=”OSHM:HC/R/Acmsc” ”strong=”7453|��/����� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”2.0” ”strong=”2734|������ x-morph=”OSHM:HVqp3ms”
”strong=”639|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”2”
strong=”5921|���� a” x-morph=”OSHM:HR” strong=”834|������� a”
x-morph=”OSHM:HTr” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”4672”
x-morph=”OSHM:HVqp3cp” ”strong=”4617|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7561|�������������/��� x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”347”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 4 ”strong=”c/453|���������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1” ”strong=”2442|�������
x-morph=”OSHM:HVpp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”347”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/1697|���������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2205|��������� x-morph=”OSHM:HAampa”��������|strong=”1992”
x-morph=”OSHM:HPp3mp” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
”strong=”l/3117|�������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0”�
5 ”strong=”c/7200|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”453|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”4617|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”b/6310|���/����
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1” ”strong=”c/2734|�������/�� x-morph=”OSHM:HC/Vqw3ms”
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”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
� 6 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”2.0.0” � ”strong=”453|���������� x-morph=”OSHM:HNp”
strong=”1121|��� a” x-morph=”OSHM:HNcmsc”�������������|strong=”1292”
x-morph=”OSHM:HNp” ”strong=”d/940|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”2.0” ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”2” ”strong=”6810|�������� x-morph=”OSHM:HAamsa”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”l/3117|������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0” strong=”c/859|�������/��
d” x-morph=”OSHM:HC/Pp2mp” ”strong=”3453|������������ x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” strong=”2119|����������� b” x-morph=”OSHM:HVqp1cs”
”strong=”c/3372|�������/��� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”0.0”
� 75 BHS has been faithful to the Leningrad Codex where there might be
a question of the validity of the form and we keep the same form as BHS.
”strong=”m/2331|�������/�� x-morph=”OSHM:HR/Vpc” ”strong=”1843|�/������
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0”� 7 ”strong=”559|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
”strong=”1696|����������� x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1”
”strong=”c/7230|����/�� x-morph=”OSHM:HC/Ncbsc” ”strong=”8141|���������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0” ”strong=”3045|���������
x-morph=”OSHM:HVhi3mp” ”strong=”2451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 8 ”strong=”403|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”7307|������ x-morph=”OSHM:HNcbsa”������|strong=”1931”
x-morph=”OSHM:HPp3fs” ”strong=”b/582|��������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5397|���������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”7706|�������� x-morph=”OSHM:HNp” ”strong=”995|�/���������
x-morph=”OSHM:HVhi3fs/Sp3mp” x-cantillationLevel=”0”� 9 ”strong=”3808|����
x-morph=”OSHM:HTn”���������|strong=”7227 a” x-morph=”OSHM:HAampa”
”strong=”2449|����������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
”strong=”c/2205|���������/��� x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”0.0”
”strong=”995|��������� x-morph=”OSHM:HVqi3mp” ”strong=”4941|����������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 10 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” ”strong=”559|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”8085|�/������� x-morph=”OSHM:HVqv2ms/Sh”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”2331|���������
x-morph=”OSHM:HVpi1cs” ”strong=”1843|�/������ x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”637|��� x-morph=”OSHM:HTa”�������|strong=”589” x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0”� 11 ”strong=”2005|���� x-morph=”OSHM:HTm”
”strong=”3176|������������ x-morph=”OSHM:HVhp1cs” ”strong=”l/1697|����/�������/���
x-morph=”OSHM:HR/Ncmpc/Sp2mp” x-cantillationLevel=”1.1” ”strong=”238|�������
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1.0” ”strong=”5704|��� x-
morph=”OSHM:HR”����/��������������|strong=”8394” x-morph=”OSHM:HNcfpc/Sp2mp”
751
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77+ ”strong=”c/8192|��������/�����/� x-morph=”OSHM:HC/VPq3cp”



120 CONTENTS

x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”c/3477|�������/��
x-morph=”OSHM:HC/Aamsa” strong=”5753|����������� a” x-morph=”OSHM:HVhp1cs”
x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”7737
a” x-morph=”OSHM:HVqp3ms” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 28 ”strong=”6299|������� x-morph=”OSHM:HVqp3ms”
”strong=”5315|�/��� x-morph=”OSHM:HNcbsc/Sp1cs” x-wType=”x-ketiv”
78 strong=”m/5674|������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”b/7845|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1” strong=”c/2416|�/���/�
c” x-morph=”OSHM:HC/Ncfsc/Sp1cs” x-wType=”x-ketiv” 79 ”strong=”b/216|�����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”7200|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0”� 29 ”strong=”2005|��� x-morph=”OSHM:HTj”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������|strong=”428” x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.0” ”strong=”6466|������� x-morph=”OSHM:HVqi3ms”�����|strong=”410”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”6471|�����������
x-morph=”OSHM:HNcfda” ”strong=”7969|��������� x-morph=”OSHM:HAcfsa”
strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”1397” x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 30 ”strong=”l/7725|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”5315|��/������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1.0” strong=”4480|������ a” x-morph=”OSHM:HR”��������|strong=”7845”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”l/215|�����/���
x-morph=”OSHM:HR/VNc” x-cantillationLevel=”0.0” ”strong=”b/216|�����/���
x-morph=”OSHM:HR/Ncbsc” strong=”d/2416|�������/��� a” x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”0”� 31 ”strong=”7181|��������� x-morph=”OSHM:HVhv2ms”
”strong=”347|�������� x-morph=”OSHM:HNp” ”strong=”8085|��������
x-morph=”OSHM:HVqv2ms”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” strong=”2790|���������� b” x-morph=”OSHM:HVhv2ms”
x-cantillationLevel=”0.0” ”strong=”c/595|��������/�� x-morph=”OSHM:HC/Pp1cs”
”strong=”1696|��������� x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”0”�
32 strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3426” x-morph=”OSHM:HTm”���������|strong=”4405”
x-morph=”OSHM:HNcfpa” ”strong=”7725|���/��������� x-morph=”OSHM:HVhv2ms/Sp1cs”
x-cantillationLevel=”1” ”strong=”1696|��������� x-morph=”OSHM:HVpv2ms”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC”������������|strong=”2654
a” x-morph=”OSHM:HVqp1cs” ”strong=”6663|���/�������� x-morph=”OSHM:HVpc/Sp2ms”
x-cantillationLevel=”0”� 33 strong=”518|��� a” x-morph=”OSHM:HC”�������|strong=”369”
x-morph=”OSHM:HTn” x-cantillationLevel=”1.0” strong=”859|������� a”
x-morph=”OSHM:HPp2ms” ”strong=”8085|�������� x-morph=”OSHM:HVqv2ms”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” strong=”2790|����������
b” x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”0.0” ”strong=”c/502|���/���������/��
x-morph=”OSHM:HC/Vpi1cs/Sp2ms” ”strong=”2451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� �34 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”453|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
78+ ”strong=”5315|��/��������/��� x-morph=”OSHM:HNcbsc/Sp3ms” x-
cantillationLevel=”1.0”
79+ strong=”c/2416|��/������/����/���/� c” x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-
cantillationLevel=”0.0”



CONTENTS 121

”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0”� 2 ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
”strong=”2450|��������� x-morph=”OSHM:HAampa” ”strong=”4405|�/������
x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/3045|���������/���
x-morph=”OSHM:HC/Vqrmpa” x-cantillationLevel=”0.0” ”strong=”238|�����������
x-morph=”OSHM:HVhv2mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 3 strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”241”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”4405|��������
x-morph=”OSHM:HNcfpa” ”strong=”974|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1” ”strong=”c/2441|�����/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”2938|�������� x-morph=”OSHM:HVqi3ms”
”strong=”l/398|������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
4 ”strong=”4941|���������� x-morph=”OSHM:HNcmsa” ”strong=”977|���������
x-morph=”OSHM:HVqi1cp”���/�����|strong=”l” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1” ”strong=”3045|�������� x-morph=”OSHM:HVqi1cp”
”strong=”996|���/������� x-morph=”OSHM:HR/Sp1cp” ”strong=”4100|���
x-morph=”OSHM:HTi”�������|strong=”2896 a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0”� 5 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”347|��������
x-morph=”OSHM:HNp” ”strong=”6663|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” ”strong=”c/410|����/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”5493|������� x-morph=”OSHM:HVhp3ms”
”strong=”4941|�/����������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�
6 strong=”5921|��� a” x-morph=”OSHM:HR”�/������������|strong=”4941”
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”3576|��������� x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”1” ”strong=”605|�������� x-morph=”OSHM:HAamsa”
”strong=”2671|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”1097|�����
x-morph=”OSHM:HTn”��������|strong=”6588” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 7 ”strong=”4310|��� x-morph=”OSHM:HTi”�������|strong=”1397”
x-morph=”OSHM:HNcmsa” ”strong=”k/347|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”8354|���������� x-morph=”OSHM:HVqi3ms”��������|strong=”3933”
x-morph=”OSHM:HNcmsa” ”strong=”k/4325|�������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0”� 8 ”strong=”c/732|������/�� x-morph=”OSHM:HC/Vqp3ms”
”strong=”l/2274|�������/��� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0”
strong=”5973|��� a” x-morph=”OSHM:HR”����������|strong=”6466”
x-morph=”OSHM:HVqrmpc” ”strong=”205|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/l/3212|������/��/��� x-morph=”OSHM:HC/R/Vqc”
x-cantillationLevel=”0.0” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”376”
x-morph=”OSHM:HNcmpc”��������|strong=”7562” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 9 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5532|�������� x-morph=”OSHM:HVqi3ms”��������|strong=”1397”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”b/7521|��/������/����
x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0.0” strong=”5973|���
a” x-morph=”OSHM:HR”����������|strong=”430” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 10 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”



122 CONTENTS

x-cantillationLevel=”2.0.0” � ”strong=”376|���������� x-morph=”OSHM:HNcmpc”
80 We read one or more accents in L differently than BHS. Often this no-
tation indicates a typographical error in BHS. ”strong=”3824|������ x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”2.0” ”strong=”8085|���������
x-morph=”OSHM:HVqv2mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”2” ”strong=”2486|�/������� x-morph=”OSHM:HTj/Sh”
”strong=”l/410|����/�� x-morph=”OSHM:HRd/Ncmsa” ”strong=”m/7562|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1” ”strong=”c/7706|��������/��
x-morph=”OSHM:HC/Np” strong=”m/5766|������/�� a” x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0”� 11 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”6467|������ x-morph=”OSHM:HNcmsc” ”strong=”120|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” strong=”7999|���������
a” x-morph=”OSHM:HVpi3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/k/734|������/��/��� x-morph=”OSHM:HC/R/Ncbsc”
”strong=”376|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”4672|����/��������� x-morph=”OSHM:HVhi3ms/Sp1cp” x-cantillationLevel=”0”�
12 ”strong=”637|��� x-morph=”OSHM:HTa”���������|strong=”551” x-
morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”410|���� x-morph=”OSHM:HNcmsa”
”strong=”3808|���� x-morph=”OSHM:HTn”������������|strong=”7561”
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1” ”strong=”c/7706|��������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”3808|���� x-
morph=”OSHM:HTn”����������|strong=”5791” x-morph=”OSHM:HVpi3ms”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
13 ”strong=”4310|���� x-morph=”OSHM:HTi”�������|strong=”6485 a”
x-morph=”OSHM:HVqp3ms” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”776|�/������� x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”1”
”strong=”c/4310|����/�� x-morph=”OSHM:HC/Ti” strong=”7760|������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”8398|�������
x-morph=”OSHM:HNcfsa” ”strong=”3605|��/������� x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0”� 14 strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”7760
a” x-morph=”OSHM:HVqi3ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”7307|��/����� x-morph=”OSHM:HNcbsc/Sp3ms” ”strong=”c/5397|��/���������/���
x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” ”strong=”622|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 15 ”strong=”1478|�������� x-morph=”OSHM:HVqi3ms”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”1320”
x-morph=”OSHM:HNcmsa” strong=”3162|������ b” x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”c/120|������/��� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”6083”
x-morph=”OSHM:HNcmsa” ”strong=”7725|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 16 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”998”
x-morph=”OSHM:HNcfsa” ”strong=”8085|�/������� x-morph=”OSHM:HVqv2ms/Sh”�������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1” ”strong=”238|�/�����������
80c



CONTENTS 123

x-morph=”OSHM:HVhv2ms/Sh” x-cantillationLevel=”0.0” strong=”l/6963|�����/��
a” x-morph=”OSHM:HR/Ncmsc” ”strong=”4405|�/������ x-morph=”OSHM:HNcfpc/Sp1cs”
x-cantillationLevel=”0”� 17 ”strong=”i/637|����/�� x-morph=”OSHM:HTi/D”
”strong=”8130|�������� x-morph=”OSHM:HVqrmsc” ”strong=”4941|����������
x-morph=”OSHM:HNcmsa” ”strong=”2280|���������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”6662”
x-morph=”OSHM:HAamsa” ”strong=”3524|��������� x-morph=”OSHM:HAamsa”
”strong=”7561|������������ x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0”�
18 ”strong=”i/559|������/�� x-morph=”OSHM:HTi/Vqc” ”strong=”l/4428|�������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”1100|������������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”7563|�������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”5081”
x-morph=”OSHM:HAampa” x-cantillationLevel=”0”� 19 strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”5375”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0” � ”strong=”6440|�������
x-morph=”OSHM:HNcbpc” ”strong=”8269|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”5234|������ a” x-morph=”OSHM:HVpp3ms”��������|strong=”7771
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” 81 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”l/6440|�����/�� x-morph=”OSHM:HR/Ncbpc”�����|strong=”1800”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC”����������|strong=”4639” x-morph=”OSHM:HNcmsc”
”strong=”3027|�/������ x-morph=”OSHM:HNcbdc/Sp3ms” ”strong=”3605|�/�������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 20 ”strong=”7281|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”2.0.0” � ”strong=”4191|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”2.0” ”strong=”c/2676|�������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”3915|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”2” ”strong=”1607|����������� x-morph=”OSHM:HVPi3mp”
strong=”5971|���� a” x-morph=”OSHM:HNcmsa” strong=”c/5674|����������/��
a” x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”1” ”strong=”c/5493|���������/��
x-morph=”OSHM:HC/Vhi3mp” ”strong=”47|��������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”b/3027|����/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0”� 21 strong=”3588|����
a” x-morph=”OSHM:HC”�/��������|strong=”5869 a” x-morph=”OSHM:HNcbdc/Sp3ms”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”1870”
x-morph=”OSHM:HNcbpc”�������|strong=”376” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3605|���/��� x-morph=”OSHM:HC/Ncmsc”�/���������|strong=”6806”
x-morph=”OSHM:HNcmpc/Sp3ms” ”strong=”7200|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 22 ”strong=”369|����� x-morph=”OSHM:HTn”���������|strong=”2822”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” 82We read one ormore
accents in L differently than BHS. Often this notation indicates a typographical
error in BHS. ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”6757|����������
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x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 84 BHS has been faithful
to the Leningrad Codex where there might be a question of the validity of the
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x-cantillationLevel=”1.1” ”strong=”7338|������ x-morph=”OSHM:HNcmsa”
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a” x-morph=”OSHM:HVqp3ms” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
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x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
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28 strong=”834|������� a” x-morph=”OSHM:HTr”����������|strong=”5140”
x-morph=”OSHM:HVqi3mp” ”strong=”7834|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”7491|����������� x-morph=”OSHM:HVqi3mp”
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x-cantillationLevel=”0.0” ”strong=”637|���� x-morph=”OSHM:HTa” strong=”5921|���
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x-morph=”OSHM:HNcmsa” ”strong=”2856|���������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”l/3045|������/��� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”376”
x-morph=”OSHM:HNcmpc” ”strong=”4639|���/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 8 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3fs”
strong=”2416|������� c” x-morph=”OSHM:HNcfsa” ”strong=”1119|�����
x-morph=”OSHM:HR”�������|strong=”695” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/b/4585|��/������������/��/�� x-
morph=”OSHM:HC/R/Ncbpc/Sp3fs” ”strong=”7931|���������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0”� 9 strong=”4480|��� a” x-morph=”OSHM:HR”�����/����|strong=”d/2315”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”935|��������
x-morph=”OSHM:HVqi3fs” strong=”5492|������� a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/m/4215|����������/��/��� x-morph=”OSHM:HC/R/Ncmpa”
”strong=”7135|������ x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
10 ”strong=”m/5397|���������/�� x-morph=”OSHM:HR/Ncfsc”�����|strong=”410”
x-morph=”OSHM:HNcmsa” ”strong=”5414|������ x-morph=”OSHM:HVqi3ms”�������|strong=”7140”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/7341|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”4325|������ x-morph=”OSHM:HNcmpa”
”strong=”b/4164|�������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
11 ”strong=”637|��� x-morph=”OSHM:HTa”���/�����|strong=”b/7377”
861
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x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0” ”strong=”2959|����������
x-morph=”OSHM:HVhi3ms” ”strong=”5645|���� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” strong=”6327|�������� a” x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”0.0” ”strong=”6051|������ x-morph=”OSHM:HNcmsc”
”strong=”216|��/����� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0”�
12 ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms” ”strong=”4524|����������
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.0” � ”strong=”2015|������������
x-morph=”OSHM:HVtrmsa” ”strong=”b/8458|�/������/� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-wType=”x-ketiv” 87 ”strong=”l/6467|�/�������/�� x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”1” ”strong=”3605|����� x-morph=”OSHM:HNcmsa”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”6680|�/��������
x-morph=”OSHM:HVpi3ms/Sp3mp” x-cantillationLevel=”0.0” � strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6440” x-morph=”OSHM:HNcbpc”
”strong=”8398|������ x-morph=”OSHM:HNcfsa” ”strong=”776|�/�������
x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”0”� 13 strong=”518|���
a” x-morph=”OSHM:HC”�������/���|strong=”l/7626” x-morph=”OSHM:HR/Ncmsa”
strong=”518|��� a” x-morph=”OSHM:HC”��/������/���|strong=”l/776”
x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1” strong=”518|���
a” x-morph=”OSHM:HC”������/����|strong=”l/2617 a” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”4672|���/��������� x-morph=”OSHM:HVhi3ms/Sp3ms”
x-cantillationLevel=”0”� 14 ”strong=”238|�/���������� x-morph=”OSHM:HVhv2ms/Sh”
”strong=”2063|������ x-morph=”OSHM:HPdxfs” ”strong=”347|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”5975|�������
x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”0.1” ”strong=”c/995|������������/��
x-morph=”OSHM:HC/Vrv2ms” x-cantillationLevel=”0.0” � ”strong=”6381|�����������
x-morph=”OSHM:HVNrfpc” ”strong=”410|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 15 ”strong=”i/3045|�����/��� x-morph=”OSHM:HTi/Vqi2ms”
x-cantillationLevel=”1.0” strong=”b/7760|�����/��� a” x-morph=”OSHM:HR/Vqc”����������|strong=”433”
x-morph=”OSHM:HNcmsa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3313|���������/��� x-morph=”OSHM:HC/Vhp3ms”
x-cantillationLevel=”0.0” ”strong=”216|����� x-morph=”OSHM:HNcbsc”
”strong=”6051|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
16 ”strong=”i/3045|�����/��� x-morph=”OSHM:HTi/Vqi2ms” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”4657”
x-morph=”OSHM:HNcmpc”�����|strong=”5645” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”4652|������������ x-morph=”OSHM:HNcfpc”
x-cantillationLevel=”0.0” ”strong=”8549|�������� x-morph=”OSHM:HAamsc”
”strong=”1843|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
17 strong=”834|������ a” x-morph=”OSHM:HTr”��/����������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”2525|�������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1” ”strong=”b/8252|���������/��� x-morph=”OSHM:HR/Vhc”
”strong=”776|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0”
”strong=”m/1864|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�

87+ ”strong=”b/8458|�/��������������/����/������/� x-
morph=”OSHM:HR/Ncfpc/Sp3ms”
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18 ”strong=”7554|����������� x-morph=”OSHM:HVhi2ms” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0” ”strong=”l/7834|����������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1” ”strong=”2389|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0.0” ”strong=”k/7209|������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”3332|������� x-morph=”OSHM:HVHsmsa”
x-cantillationLevel=”0”� 19 ”strong=”3045|���/��������� x-morph=”OSHM:HVhv2ms/Sp1cp”
x-cantillationLevel=”1.0” 88We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. ”strong=”4100|���
x-morph=”OSHM:HTi”���������|strong=”559” x-morph=”OSHM:HVqi1cp”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn”�����������|strong=”6186 a” x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.0” ”strong=”m/6440|������/�� x-morph=”OSHM:HR/Ncbpc”���������|strong=”2822”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 20 strong=”d/5608|��������/���
a” x-morph=”OSHM:HTi/VPi3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” 89We read one or more accents in L differently than
BHS. Often this notation indicates a typographical error in BHS. strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1696|��������� x-morph=”OSHM:HVpi1cs”
x-cantillationLevel=”1” strong=”518|���� a” x-morph=”OSHM:HC”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”376|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1104|���������
x-morph=”OSHM:HVPi3ms” x-cantillationLevel=”0”� 21 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.0” � ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7200|������ x-morph=”OSHM:HVqp3cp”
”strong=”216|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1”
”strong=”925|�������� x-morph=”OSHM:HAamsa” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.0” ”strong=”b/7834|�����������/���
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/7307|������/��
x-morph=”OSHM:HC/Ncbsa” strong=”5674|��������� a” x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”0.0” ”strong=”c/2891|�/����������/��� x-morph=”OSHM:HC/Vpw3fs/Sp3mp”
x-cantillationLevel=”0”� 22 ”strong=”m/6828|�������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”2091|������ x-morph=”OSHM:HNcmsa”
”strong=”857|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”433”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3372|�������
x-morph=”OSHM:HVNrmsc” ”strong=”1935|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 23 ”strong=”7706|�������� x-morph=”OSHM:HNp”
”strong=”3808|���� x-morph=”OSHM:HTn”���/���������|strong=”4672”
x-morph=”OSHM:HVqp1cp/Sp3ms” x-cantillationLevel=”1.0” ”strong=”7689|��������
x-morph=”OSHM:HAamsc”������|strong=”3581 b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/4941|����������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”c/7230|���/�� x-morph=”OSHM:HC/Ncbsc”����������|strong=”6666”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” strong=”6031|��������� b” x-morph=”OSHM:HVpi3ms”

88c
89c
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x-cantillationLevel=”0”� 24 strong=”l/3651|���/��� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.0” ”strong=”3372|���/�������� x-morph=”OSHM:HVqp3cp/Sp3ms”
”strong=”376|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”7200”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”2450” x-morph=”OSHM:HAampc”�����|strong=”3820
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� �38 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”��������|strong=”3068”

x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”347”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”4480|��

a” x-morph=”OSHM:HR” 90 Marks a word with a final consonant that is a me-
dial (not a final) form. strong=”d/5591|����/� b” x-morph=”OSHM:HTd/Ncfsa”
x-wType=”x-ketiv” 91 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 2 ”strong=”4310|���� x-morph=”OSHM:HTi” ”strong=”2088|����
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.0” � ”strong=”2821|�����������
x-morph=”OSHM:HVhrmsa” ”strong=”6098|������ x-morph=”OSHM:HNcfsa”
”strong=”b/4405|��������/�� x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”1”
”strong=”1097|������� x-morph=”OSHM:HTn”�������|strong=”1847”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 3 ”strong=”247|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”k/1397|������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”2504|��/��������
x-morph=”OSHM:HNcbdc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/7592|���/���������/���
x-morph=”OSHM:HC/Vqi1cs/Sp2ms” x-cantillationLevel=”0.0” ”strong=”c/3045|���/���������/��
x-morph=”OSHM:HC/Vhv2ms/Sp1cs” x-cantillationLevel=”0”� 4 ”strong=”375|�������
x-morph=”OSHM:HTi” ”strong=”1961|�������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.0” ”strong=”b/3245|�/������/��� x-morph=”OSHM:HR/Vqc/Sp1cs”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”5046|��������
x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”0.0” strong=”518|��� a”
x-morph=”OSHM:HC”�����������|strong=”3045” x-morph=”OSHM:HVqp2ms”
”strong=”998|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
5 ”strong=”4310|��� x-morph=”OSHM:HTi”������|strong=”7760 a” x-
morph=”OSHM:HVqp3ms” ”strong=”4461|��/��������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3045|������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1” strong=”176|���� a”
x-morph=”OSHM:HC” ”strong=”4310|���� x-morph=”OSHM:HTi”�������|strong=”5186”
x-morph=”OSHM:HVqp3ms” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs”
strong=”6957|����� b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
6 strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”4100” x-morph=”OSHM:HTi”
x-cantillationLevel=”1.0” ”strong=”134|��/�������� x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”2883|����������� x-morph=”OSHM:HVHp3cp” x-cantillationLevel=”1”
strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”4310|���� x-morph=”OSHM:HTi”��������|strong=”3384
b” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”68|������

90M
91+ �� strong=”4480|��������/� a” x-morph=”OSHM:HR”
strong=”d/5591|���������/��� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
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x-morph=”OSHM:HNcfsc” ”strong=”6438|��/��������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”0”� 7 strong=”b/7442|���/��� b” x-morph=”OSHM:HR/Vqc”�������|strong=”3162
a” x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”3556|����������
x-morph=”OSHM:HNcmpc” ”strong=”1242|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/7321|����������/��� x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 8 strong=”c/5526|��������/�� a” x-morph=”OSHM:HC/Vhw3ms”
strong=”b/1817|����������/��� c” x-morph=”OSHM:HR/Ncfda” ”strong=”3220|����
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”b/1518|��/�����/����
x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”m/7358|������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”3318|������ x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 9 strong=”b/7760|�/�������/��� a” x-morph=”OSHM:HR/Vqc/Sp1cs”
”strong=”6051|������ x-morph=”OSHM:HNcmsa” ”strong=”3830|��/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/6205|��������/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”2854|��/���������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 10 ”strong=”c/7665|����������/��
x-morph=”OSHM:HC/Vqw1cs” strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
”strong=”2706|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
strong=”c/7760|��������/���� a” x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”0.0”
”strong=”1280|��������� x-morph=”OSHM:HNcmsa” strong=”c/1817|����������/��
c” x-morph=”OSHM:HC/Ncfda” x-cantillationLevel=”0”� 11 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1” ”strong=”5704|���
x-morph=”OSHM:HR”������|strong=”6311” x-morph=”OSHM:HD” ”strong=”935|�������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3254|������� x-morph=”OSHM:HVhi2ms”
x-cantillationLevel=”1” ”strong=”c/6311|����/�� x-morph=”OSHM:HC/D”����������|strong=”7896”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”b/1347|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”1530|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0”� 12 ”strong=”i/m/3117|��/������/��/���� x-
morph=”OSHM:HTi/R/Ncmpc/Sp2ms” x-cantillationLevel=”1.0” 92 BHS has
been faithful to the Leningrad Codex where there might be a question of the va-
lidity of the form andwe keep the same form as BHS. ”strong=”6680|���������
x-morph=”OSHM:HVpp2ms” ”strong=”1242|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”3045|����� x-morph=”OSHM:HVpp2ms”
”strong=”7837|��� x-morph=”OSHM:HNcmsa” x-wType=”x-ketiv” 93 94
”strong=”4725|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
13 ”strong=”l/270|�����/��� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”b/3671|���������/��� x-morph=”OSHM:HR/Ncfpc” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/5287|�����������/��
x-morph=”OSHM:HC/VNi3mp” ”strong=”7563|���������� x-morph=”OSHM:HAampa”

921
93+ ����� ”strong=”3045|��������������� x-morph=”OSHM:HVpp2ms”
”strong=”d/7837|��������/�� x-morph=”OSHM:HTd/Ncmsa”
94k We read one or more consonants in L differently from BHS.
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95 Suspended letter(s). Shown as suspended letters without a superscript note
number. strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp3fs” x-
cantillationLevel=”0”� 14 ”strong=”2015|������������� x-morph=”OSHM:HVti3fs”
x-cantillationLevel=”1.0” strong=”k/2563|������/��� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”2368|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/3320|��������������/��� x-morph=”OSHM:HC/Vti3mp”
x-cantillationLevel=”0.0” ”strong=”3644|������� x-morph=”OSHM:HR”
”strong=”3830|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
15 ”strong=”c/4513|���������/�� x-morph=”OSHM:HC/VNi3ms” ”strong=”m/7563|����������/��
x-morph=”OSHM:HR/Aampa” 96 Suspended letter(s). Shown as suspended
letters without a superscript note number. ”strong=”216|�/������ x-
morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/2220|��������/��
x-morph=”OSHM:HC/Ncbsc” strong=”7311|������� a” x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0.0” ”strong=”7665|����������� x-morph=”OSHM:HVNi3fs”
x-cantillationLevel=”0”� 16 ”strong=”i/935|�����/��� x-morph=”OSHM:HTi/Vqp2ms”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5033”
x-morph=”OSHM:HNcmpc”�����|strong=”3220” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/b/2714|������/��/�� x-morph=”OSHM:HC/R/Ncmsc”
”strong=”8415|��������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0”
”strong=”1980|��������������� x-morph=”OSHM:HVtp2ms” x-cantillationLevel=”0”�
17 ”strong=”i/1540|��������/�� x-morph=”OSHM:HTi/VNp3cp” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0” ”strong=”8179|��������
x-morph=”OSHM:HNcmpc”�������|strong=”4194” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/8179|���������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”6757|���������� x-morph=”OSHM:HNcmsa” ”strong=”7200|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”� 18 ”strong=”995|���������������
x-morph=”OSHM:HVrp2ms” x-cantillationLevel=”1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”7338” x-morph=”OSHM:HNcmpc”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”5046|��������
x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”0.0” strong=”518|��� a”
x-morph=”OSHM:HC”�����������|strong=”3045” x-morph=”OSHM:HVqp2ms”
”strong=”3605|��/������ x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”�
19 ”strong=”335|��� x-morph=”OSHM:HTi”�����|strong=”2088” x-morph=”OSHM:HPdxms”
”strong=”d/1870|�������/��� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”7931|��������� x-morph=”OSHM:HVqi3ms”������|strong=”216”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”c/2822|��������/���
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”335|���
x-morph=”OSHM:HTi”�����|strong=”2088” x-morph=”OSHM:HPdxms” ”strong=”4725|��/������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 20 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3947|����/�������� x-morph=”OSHM:HVqi2ms/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��/���������|strong=”1366”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C”���������|strong=”995” x-morph=”OSHM:HVqi2ms”

957
967
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x-cantillationLevel=”0.0” strong=”5410|���������� b” x-morph=”OSHM:HNcbpc”
strong=”1004|��/������ b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
21 ”strong=”3045|���������� x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1.0”
strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”227 a” x-morph=”OSHM:HD”
”strong=”3205|���������� x-morph=”OSHM:HVNi2ms” x-cantillationLevel=”1”
”strong=”c/4557|���������/�� x-morph=”OSHM:HC/Ncmsc” ”strong=”3117|��/������
x-morph=”OSHM:HNcmpc/Sp2ms” strong=”7227|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0”� 22 ”strong=”i/935|�����/��� x-morph=”OSHM:HTi/Vqp2ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”214”
x-morph=”OSHM:HNcmpc” ”strong=”7950|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/214|���������/�� x-morph=”OSHM:HC/Ncmpc”
”strong=”1259|������� x-morph=”OSHM:HNcmsa” ”strong=”7200|���������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”� 23 strong=”834|������
a” x-morph=”OSHM:HTr”�������������|strong=”2820” x-morph=”OSHM:HVqp1cs”
”strong=”l/6256|���/�� x-morph=”OSHM:HR/Ncbsc”�����|strong=”6862
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”l/3117|�����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”7128|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/4421|����������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0”� 24 ”strong=”335|��� x-morph=”OSHM:HTi”�����|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”d/1870|�������/��� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0” strong=”2505|�������� a” x-morph=”OSHM:HVNi3ms”
”strong=”216|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” strong=”6327|������
a” x-morph=”OSHM:HVhi3ms” ”strong=”6921|������� x-morph=”OSHM:HNcmsa”
strong=”5921|����� a” x-morph=”OSHM:HR”�������|strong=”776” x-
morph=”OSHM:HNcbsa” x-cantillationLevel=”0”� 25 ”strong=”4310|����
x-morph=”OSHM:HTi”��������|strong=”6385” x-morph=”OSHM:HVpp3ms”
”strong=”l/7858|��������/�� x-morph=”OSHM:HRd/Ncmsa” strong=”8585|���������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”c/1870|�������/���
x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.0” ”strong=”l/2385|�������/��
x-morph=”OSHM:HR/Ncmsc” strong=”6963|������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 26 ”strong=”l/4305|��������/��� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsa” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”376”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”4057|����������
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�������|strong=”120” x-morph=”OSHM:HNcmsa”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
27 ”strong=”l/7646|������������/�� x-morph=”OSHM:HR/Vhc” strong=”7722|�������
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” 97 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”c/4875|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/l/6779|����������/��/��� x-morph=”OSHM:HC/R/Vhc”
x-cantillationLevel=”0.0” ”strong=”4161|������ x-morph=”OSHM:HNcmsc”
”strong=”1877|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
97c
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28 ”strong=”i/3426|����/�� x-morph=”OSHM:HTi/Tm”�������/���|strong=”l/4306”
x-morph=”OSHM:HRd/Ncmsa” ”strong=”1|���� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”4310|���
x-morph=”OSHM:HTi”����������|strong=”3205” x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”0.0” ”strong=”96|������� x-morph=”OSHM:HNcmpc”�����|strong=”2919”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 29 ”strong=”m/990|�������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”4310|���� x-morph=”OSHM:HTi” x-
cantillationLevel=”1.0” ”strong=”3318|������ x-morph=”OSHM:HVqp3ms”
”strong=”d/7140|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
strong=”c/3713|������/�� b” x-morph=”OSHM:HC/Ncmsc” ”strong=”8064|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”3205|��/������ x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”0”� 30 ”strong=”k/68|�����/���� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”4325|������ x-morph=”OSHM:HNcmpa”
”strong=”2244|������������� x-morph=”OSHM:HVti3mp” x-cantillationLevel=”1”
”strong=”c/6440|������/�� x-morph=”OSHM:HC/Ncbpc” ”strong=”8415|��������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” ”strong=”3920|�������������
x-morph=”OSHM:HVti3mp” x-cantillationLevel=”0”� 31 ”strong=”i/7194|���������/����
x-morph=”OSHM:HTi/Vpi2ms” x-cantillationLevel=”1.0” ”strong=”4575|������������
x-morph=”OSHM:HNcbpc” ”strong=”3598|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”176|���� a” x-morph=”OSHM:HC”�����������|strong=”4189”
x-morph=”OSHM:HNcfpc” ”strong=”3685|�������� x-morph=”OSHM:HNcmsa”
strong=”6605|����������� a” x-morph=”OSHM:HVpi2ms” x-cantillationLevel=”0”�
32 ”strong=”i/3318|�������/�� x-morph=”OSHM:HTi/Vhi2ms” ”strong=”4216|����������
x-morph=”OSHM:HNp” ”strong=”b/6256|��/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5906|�������/��� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp3fs” ”strong=”5148|�/������� x-morph=”OSHM:HVhi2ms/Sp3mp”
x-cantillationLevel=”0”� 33 ”strong=”i/3045|���������/��� x-morph=”OSHM:HTi/Vqp2ms”
x-cantillationLevel=”1.0” ”strong=”2708|�������� x-morph=”OSHM:HNcbpc”
”strong=”8064|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”7760 a”
x-morph=”OSHM:HVqi2ms” ”strong=”4896|��/��������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”b/776|������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
34 strong=”i/7311|�������/�� a” x-morph=”OSHM:HTi/Vhi2ms” ”strong=”l/5645|����/��
x-morph=”OSHM:HRd/Ncbsa” strong=”6963|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/8229|��������/��� x-morph=”OSHM:HC/Ncfsc”�������|strong=”4325”
x-morph=”OSHM:HNcmpa” ”strong=”3680|���/��������� x-morph=”OSHM:HVpi3fs/Sp2ms”
x-cantillationLevel=”0”� 35 ”strong=”d/7971|����������/��� x-morph=”OSHM:HTi/Vpi2ms”
strong=”1300|���������� b” x-morph=”OSHM:HNcmpa” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqi3mp” x-cantillationLevel=”1” ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqi3mp” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”2005|���/������ x-morph=”OSHM:HTm/Sp1cp” x-cantillationLevel=”0”�
36 ”strong=”4310|��� x-morph=”OSHM:HTi”������|strong=”7896” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”b/2910|��������/��� x-morph=”OSHM:HRd/Ncfpa”
”strong=”2451|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
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strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”4310|���� x-morph=”OSHM:HTi”�������|strong=”5414”
x-morph=”OSHM:HVqp3ms” ”strong=”l/7907|����������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”998|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
37 ”strong=”4310|���� x-morph=”OSHM:HTi”����������|strong=”5608
a” x-morph=”OSHM:HVpi3ms” ”strong=”7834|���������� x-morph=”OSHM:HNcmpa”
”strong=”b/2451|��������/��� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1”
strong=”c/5035|��������/�� a” x-morph=”OSHM:HC/Ncmpc” ”strong=”8064|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” ”strong=”4310|����
x-morph=”OSHM:HTi” ”strong=”7901|����������� x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”0”� 38 ”strong=”b/3332|������/��� x-morph=”OSHM:HR/Vqc”
”strong=”6083|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/4165|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/7263|���������/�� x-morph=”OSHM:HC/Ncmpa” ”strong=”1692|�����������
x-morph=”OSHM:HVPi3mp” x-cantillationLevel=”0”� 39 strong=”i/6679|�������/��
a” x-morph=”OSHM:HTi/Vqi2ms” strong=”l/3833|�������/�� c” x-morph=”OSHM:HR/Ncbsa”
”strong=”2964|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”c/2416|�������/�� c” x-morph=”OSHM:HC/Ncfsc” strong=”3715|�����������
a” x-morph=”OSHM:HNcmpa” ”strong=”4390|���������� x-morph=”OSHM:HVpi2ms”
x-cantillationLevel=”0”� 40 strong=”3588|���� a” x-morph=”OSHM:HC”����������|strong=”7817”
x-morph=”OSHM:HVqi3mp” ”strong=”b/4585|�����������/�� x-morph=”OSHM:HRd/Ncbpa”
x-cantillationLevel=”1” ”strong=”3427|��������� x-morph=”OSHM:HVqi3mp”
”strong=”b/5521|��������/�� x-morph=”OSHM:HRd/Ncfsa” ”strong=”3926|�����
x-morph=”OSHM:HR”�������|strong=”695” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 41 ”strong=”4310|���� x-morph=”OSHM:HTi”
strong=”3559|������� a” x-morph=”OSHM:HVhi3ms” ”strong=”l/6158|������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”2.0” strong=”6718|��/������
b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”2” strong=”3588|�����
a” x-morph=”OSHM:HC”�/����|strong=”3206” x-morph=”OSHM:HNcmsc/Sp3ms”
x-wType=”x-ketiv” 98 ”strong=”413|��� x-morph=”OSHM:HR”�����|strong=”410”
x-morph=”OSHM:HNcmsa” ”strong=”7768|������������ x-morph=”OSHM:HVpi3mp”
x-cantillationLevel=”1” ”strong=”8582|��������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.0” ”strong=”l/1097|�����/�� x-morph=”OSHM:HR/Tn”�������|strong=”400”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�39 ”strong=”i/3045|����������/�� x-morph=”OSHM:HTi/Vqp2ms”

x-cantillationLevel=”1.1” ”strong=”6256|���� x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”1.0” ”strong=”3205|������ x-morph=”OSHM:HVqc”

”strong=”3277|������� x-morph=”OSHM:HNcmpc”�������|strong=”5553”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”2342|������
a” x-morph=”OSHM:HVoc” ”strong=”355|���������� x-morph=”OSHM:HNcfpa”
”strong=”8104|���������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”�
2 strong=”5608|���������� a” x-morph=”OSHM:HVqi2ms” ”strong=”3391|���������
x-morph=”OSHM:HNcmpa” ”strong=”4390|������������� x-morph=”OSHM:HVpi3fp”
x-cantillationLevel=”1” ”strong=”c/3045|����������/��� x-morph=”OSHM:HC/Vqp2ms”
98+ ”strong=”3206|�/���������/��� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”1.0”
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x-cantillationLevel=”0.0” ”strong=”6256|���� x-morph=”OSHM:HNcbsc”
”strong=”3205|���/�������� x-morph=”OSHM:HVqc/Sp3fp” x-cantillationLevel=”0”�
3 ”strong=”3766|������������� x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”1.0”
”strong=”3206|����/������� x-morph=”OSHM:HNcmpc/Sp3fp” ”strong=”6398|��������������
x-morph=”OSHM:HVpi3fp” x-cantillationLevel=”1” strong=”2256|����/�������
b” x-morph=”OSHM:HNcmpc/Sp3mp” ”strong=”7971|���������������
x-morph=”OSHM:HVpi3fp” x-cantillationLevel=”0”� 4 strong=”2492|����������
a” x-morph=”OSHM:HVqi3mp” strong=”1121|���/������ a” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.0” strong=”7235|��������� a” x-morph=”OSHM:HVqi3mp”
strong=”b/1250|�����/�� b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”3318|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”7725”
x-morph=”OSHM:HVqp3cp” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 5 ”strong=”4310|���� x-morph=”OSHM:HTi”���������|strong=”7971”
x-morph=”OSHM:HVpp3ms” ”strong=”6501|������� x-morph=”OSHM:HNcmsa”
”strong=”2670|��������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/4147|���������/�� x-morph=”OSHM:HC/Ncbpc” ”strong=”6171|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”4310|����
x-morph=”OSHM:HTi” strong=”6605|�������� a” x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0”� 6 strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”7760
a” x-morph=”OSHM:HVqp1cs” ”strong=”6160|�������� x-morph=”OSHM:HNcfsa”
strong=”1004|��/����� b” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/4908|�/���������������/��� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
”strong=”4420|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
7 ”strong=”7832|��������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
strong=”l/1995|�������/�� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”7151|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”8663|�����������
x-morph=”OSHM:HNcfpc” ”strong=”5065|��������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”8085|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”� 8 ”strong=”3491|�������
x-morph=”OSHM:HVqi3ms” ”strong=”2022|������� x-morph=”OSHM:HNcmpa”
”strong=”4829|���/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
strong=”c/310|������/�� a” x-morph=”OSHM:HC/R” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”3387” x-morph=”OSHM:HNcmsa”
”strong=”1875|���������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
9 ”strong=”i/14|�������/�� x-morph=”OSHM:HTi/Vqi3ms” ”strong=”7214|������
x-morph=”OSHM:HNcmsa” 99 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. ”strong=”5647|��/������� x-morph=”OSHM:HVqc/Sp2ms”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3885
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/���������|strong=”18” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0”� 10 ”strong=”i/7194|��������/��� x-morph=”OSHM:HTi/Vqi2ms”������|strong=”7214”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”b/8525|������/���
991
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x-morph=”OSHM:HR/Ncmsc” ”strong=”5688|��/������ x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”�����������|strong=”7702”
x-morph=”OSHM:HVpi3ms” ”strong=”6010|��������� x-morph=”OSHM:HNcmpa”
strong=”310|��/�������� a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0”�
11 ”strong=”i/982|�������/��� x-morph=”OSHM:HTi/Vqi2ms”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0” 100 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”7227
a” x-morph=”OSHM:HAamsa” strong=”3581|��/����� b” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” strong=”c/5800|��������/�� a” x-morph=”OSHM:HC/Vqi2ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” ”strong=”3018|��/��������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”� 12 ”strong=”i/539|���������/��
x-morph=”OSHM:HTi/Vhi2ms” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” 101 We read one or more accents in L differently
than BHS. Often this notation indicates a typographical error in BHS. strong=”3588|����
a” x-morph=”OSHM:HC”�����|strong=”7725” x-morph=”OSHM:HVqi3ms”
x-wType=”x-ketiv” 102 ”strong=”2233|��/������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1” ”strong=”c/1637|���/������/��� x-morph=”OSHM:HC/Ncbsc/Sp2ms”
”strong=”622|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
13 ”strong=”3671|������ x-morph=”OSHM:HNcfsc”����������|strong=”7443”
x-morph=”OSHM:HNcmpa” ”strong=”5965|���������� x-morph=”OSHM:HVNp3fs”
x-cantillationLevel=”1” strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”84”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”2624|���������
x-morph=”OSHM:HNcfsa” ”strong=”c/5133|������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0”� 14 strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”5800
a” x-morph=”OSHM:HVqi3fs” ”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
”strong=”1000|��/������� x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1”
strong=”c/5921|���/��� a” x-morph=”OSHM:HC/R”�������|strong=”6083”
x-morph=”OSHM:HNcmsa” ”strong=”2552|���������� x-morph=”OSHM:HVpi3fs”
x-cantillationLevel=”0”� 15 ”strong=”c/7911|����������/��� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.0” strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”7272”
x-morph=”OSHM:HNcfsa” ”strong=”2115|��/��������� x-morph=”OSHM:HVqi3fs/Sp3fs”
x-cantillationLevel=”1” strong=”c/2416|�������/�� c” x-morph=”OSHM:HC/Ncfsc”
strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa” ”strong=”1758|��/����������
x-morph=”OSHM:HVqi3fs/Sp3fs” x-cantillationLevel=”0”� 16 ”strong=”7188|�����������
x-morph=”OSHM:HVhp3ms” strong=”1121|��/������� a” x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”l/3808|���/��� x-morph=”OSHM:HR/Tn”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”l/7385|�����/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”3018|��/�������� x-morph=”OSHM:HNcmsc/Sp3fs”
”strong=”1097|������ x-morph=”OSHM:HTn”�������|strong=”6343”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 17 strong=”3588|�����
a” x-morph=”OSHM:HC”��/��������|strong=”5382” x-morph=”OSHM:HVhp3ms/Sp3fs”

100c
101c
102+ ”strong=”7725|������������ x-morph=”OSHM:HVhi3ms”
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”strong=”433|��������� x-morph=”OSHM:HNcmsa” ”strong=”2451|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�������|strong=”2505 a” x-morph=”OSHM:HVqp3ms”
”strong=”l|��/���� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0”
”strong=”b/998|��������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0”�
18 ”strong=”k/6256|���/���� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”b/4791|��������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”4754|����������
x-morph=”OSHM:HVhi3fs” x-cantillationLevel=”1” ”strong=”7832|�����������
x-morph=”OSHM:HVqi3fs” strong=”l/5483|������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”c/l/7392|��/�������/��/�� x-morph=”OSHM:HC/R/Vqrmsc/Sp3ms”
x-cantillationLevel=”0”� 19 ”strong=”i/5414|�������/�� x-morph=”OSHM:HTi/Vqi2ms”
strong=”l/5483|������/�� b” x-morph=”OSHM:HRd/Ncmsa” ”strong=”1369|����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”i/3847|�����������/��
x-morph=”OSHM:HTi/Vhi2ms” strong=”6677|��/�������� a” x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”7483|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
20 ”strong=”d/7493|����/����������/���� x-morph=”OSHM:HTi/Vhi2ms/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”k/697|���������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”1935|����� x-morph=”OSHM:HNcmsc”
strong=”5170|��/������ a” x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”367|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 21 ”strong=”2658|�����������
x-morph=”OSHM:HVqi3mp” ”strong=”b/6010|�����/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/7797|���������/�� x-morph=”OSHM:HC/Vqi3ms”
strong=”b/3581|�����/��� b” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
”strong=”3318|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0”
”strong=”l/7125|������/�� x-morph=”OSHM:HR/Vqc”��������|strong=”5402”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 22 ”strong=”7832|���������
x-morph=”OSHM:HVqi3ms” ”strong=”l/6343|�����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”2865|������ x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”7725”
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”m/6440|������/��
x-morph=”OSHM:HR/Ncbpc”�������|strong=”2719” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 23 strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”7439|��������� x-morph=”OSHM:HVqi3fs”
”strong=”827|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”3851|������ x-morph=”OSHM:HNcmsc” ”strong=”2595|�������
x-morph=”OSHM:HNcfsa” ”strong=”c/3591|��������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0”� 24 ”strong=”b/7494|�������/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”c/7267|�����/��� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”1572|�������� x-morph=”OSHM:HVpi3ms”�������|strong=”776”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”�����������|strong=”539” x-morph=”OSHM:HVhi3ms”
x-cantillationLevel=”0.0” strong=”3588|���� a” x-morph=”OSHM:HC”������|strong=”6963
a” x-morph=”OSHM:HNcmsc” ”strong=”7782|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 25 ”strong=”b/1767|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”7782|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
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� ”strong=”559|�������� x-morph=”OSHM:HVqi3ms” ”strong=”1889|������
x-morph=”OSHM:HTj” x-cantillationLevel=”1.1” ”strong=”c/m/7350|������/��/����
x-morph=”OSHM:HC/R/Aamsa” x-cantillationLevel=”1.0” ”strong=”7306|��������
x-morph=”OSHM:HVhi3ms” ”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”7482|������ x-morph=”OSHM:HNcmsc”
”strong=”8269|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0”
”strong=”c/8643|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”�
26 ”strong=”i/m/998|��/���������/��/���� x-morph=”OSHM:HTi/R/Ncfsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”82|�������� x-morph=”OSHM:HVhi3ms”�����|strong=”5322
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”6566|���������
x-morph=”OSHM:HVqi3ms” ”strong=”3671|�/��� x-morph=”OSHM:HNcfsc/Sp3ms”
x-wType=”x-ketiv” 103 ”strong=”l/8486|�������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0”� 27 strong=”518|��� a” x-morph=”OSHM:HC”����|strong=”5921
a” x-morph=”OSHM:HR”��/������|strong=”6310” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”1361|������������ x-morph=”OSHM:HVhi3ms”
”strong=”5404|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
strong=”c/3588|����/��� a” x-morph=”OSHM:HC/C” x-cantillationLevel=”0.0”
strong=”7311|������� a” x-morph=”OSHM:HVhi3ms” ”strong=”7064|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 28 ”strong=”5553|������
x-morph=”OSHM:HNcmsa” ”strong=”7931|���������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.0” strong=”c/3885|����������/�� a” x-morph=”OSHM:HC/Vri3ms”
x-cantillationLevel=”1” strong=”5921|���� a” x-morph=”OSHM:HR”�����|strong=”8127”
x-morph=”OSHM:HNcbsc”��������|strong=”5553” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”c/4686|���������/�� b” x-morph=”OSHM:HC/Ncbsa”
x-cantillationLevel=”0”� 29 ”strong=”m/8033|������/�� x-morph=”OSHM:HR/D”
”strong=”2658|������ x-morph=”OSHM:HVqp3ms”�������|strong=”400”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”l/m/7350|�������/��/���
x-morph=”OSHM:HR/R/Aamsa” x-cantillationLevel=”0.0” strong=”5869|�/�������
a” x-morph=”OSHM:HNcbdc/Sp3ms” ”strong=”5027|���������� x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”0”� 30 ”strong=”c/667|�/����/� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-wType=”x-ketiv” 104 ”strong=”5966|��������� x-morph=”OSHM:HVpi3mp”�����|strong=”1818”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”c/b/834|�������/��/��
b” x-morph=”OSHM:HC/R/Tr” strong=”2491|���������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”8033|����� x-morph=”OSHM:HD” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”� �40 strong=”c/6030|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”

”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”347” x-morph=”OSHM:HNp”

x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 2 ”strong=”i/7378|���/��� x-morph=”OSHM:HTi/Vqa”
x-cantillationLevel=”1.0” strong=”5973|��� a” x-morph=”OSHM:HR”���������|strong=”7706”
x-morph=”OSHM:HNp” ”strong=”3250|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”3198|��������� x-morph=”OSHM:HVhrmsa”
103+ ”strong=”3671|�/����������/��� x-morph=”OSHM:HNcfpc/Sp3ms”
104+ ”strong=”c/667|�/����������/���/����/� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
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”strong=”433|��������� x-morph=”OSHM:HNcmsa” strong=”6030|����/�������
b” x-morph=”OSHM:HVqj3ms/Sp3fs” x-cantillationLevel=”0”� � 3 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”347|�������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0”� 4 ”strong=”2005|���� x-morph=”OSHM:HTm”
”strong=”7043|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0”
”strong=”4100|���� x-morph=”OSHM:HTi” ”strong=”7725|���/���������
x-morph=”OSHM:HVhi1cs/Sp2ms” x-cantillationLevel=”1” ”strong=”3027|�/������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0” strong=”7760|����������
a” x-morph=”OSHM:HVqp1cs” ”strong=”3926|����� x-morph=”OSHM:HR”�/����|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 5 ”strong=”259|������
x-morph=”OSHM:HAcfsa” ”strong=”1696|������������� x-morph=”OSHM:HVpp1cs”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”6030|��������� b” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1”
”strong=”c/8147|����������/��� x-morph=”OSHM:HC/Acfda” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”3254|��������
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”0”� � 6 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms”��������|strong=”3068” x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”347” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”4480|�� a” x-morph=”OSHM:HR” 105Marks
a wordwith a final consonant that is a medial (not a final) form. strong=”5591|����
b” x-morph=”OSHM:HNcfsa” x-wType=”x-ketiv” 106 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0”� 7 ”strong=”247|�����
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
”strong=”k/1397|������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”2504|��/��������
x-morph=”OSHM:HNcbdc/Sp2ms” x-cantillationLevel=”1” ”strong=”7592|���/����������
x-morph=”OSHM:HVqi1cs/Sp2ms” x-cantillationLevel=”0.0” ”strong=”c/3045|���/���������/��
x-morph=”OSHM:HC/Vhv2ms/Sp1cs” x-cantillationLevel=”0”� 8 ”strong=”i/637|���/���
x-morph=”OSHM:HTi/D” x-cantillationLevel=”1.0” strong=”6565|�������
a” x-morph=”OSHM:HVhi2ms” ”strong=”4941|�/����������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” ”strong=”7561|���/������������� x-morph=”OSHM:HVhi2ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”4616|�������� x-morph=”OSHM:HR”
”strong=”6663|���������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0”�
9 strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”���������|strong=”2220”
x-morph=”OSHM:HNcbsa” ”strong=”k/410|����/��� x-morph=”OSHM:HRd/Ncmsa”
� ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1”
strong=”c/b/6963|�����/��/��� a” x-morph=”OSHM:HC/R/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”3644|���/������ x-morph=”OSHM:HR/Sp3ms”
”strong=”7481|�������� x-morph=”OSHM:HVhi2ms” x-cantillationLevel=”0”�
10 strong=”5710|������ b” x-morph=”OSHM:HVqv2ms” ”strong=”4994|����
x-morph=”OSHM:HTe” ”strong=”1347|�������� x-morph=”OSHM:HNcmsa”

105M
106+ �� strong=”4480|�������� a” x-morph=”OSHM:HR” strong=”5591|��������� b”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
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107 BHS has been faithful to the Leningrad Codex where there might be a ques-
tion of the validity of the form andwe keep the same form as BHS. ”strong=”c/1363|�������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1” ”strong=”c/1935|�����/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/1926|������/�� x-morph=”OSHM:HC/Ncmsa”
”strong=”3847|����������� x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”0”�
11 strong=”6327|������ a” x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”1.0”
”strong=”5678|��������� x-morph=”OSHM:HNcfpc” ”strong=”639|��/������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2ms” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”���������|strong=”1343”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”c/8213|���/������������/��
x-morph=”OSHM:HC/Vhv2ms/Sp3ms” x-cantillationLevel=”0”� 12 ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”��������|strong=”1343”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”3665|���/����������
x-morph=”OSHM:HVhv2ms/Sp3ms” x-cantillationLevel=”1” ”strong=”c/1915|�������/��
x-morph=”OSHM:HC/Vqv2ms” ”strong=”7563|���������� x-morph=”OSHM:HAampa”
”strong=”8478|�/��������� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
13 ”strong=”2934|�/������� x-morph=”OSHM:HVqv2ms/Sp3mp” ”strong=”b/6083|������/���
x-morph=”OSHM:HRd/Ncmsa” strong=”3162|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”6440|����/������� x-morph=”OSHM:HNcbpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”2280|������� x-morph=”OSHM:HVqv2ms”
”strong=”b/2934|��������/��� x-morph=”OSHM:HRd/Vqsmsa” x-cantillationLevel=”0”�
14 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”�������|strong=”589”
x-morph=”OSHM:HPp1cs” ”strong=”3034|���/������ x-morph=”OSHM:HVhi1cs/Sp2ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”3467”
x-morph=”OSHM:HVhi3fs” ”strong=”l|���/�� x-morph=”OSHM:HR/Sp2ms”
”strong=”3225|��/�������� x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”0”�
15 ”strong=”2009|������ x-morph=”OSHM:HTm”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”930|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”�����������|strong=”6213
a” x-morph=”OSHM:HVqp1cs” strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” strong=”2682|�������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”k/1241|�������/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”398|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”�
16 ”strong=”2009|������ x-morph=”OSHM:HTm”�����|strong=”4994”
x-morph=”OSHM:HTe” strong=”3581|��/���� b” x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”b/4975|�/��������/�� x-morph=”OSHM:HR/Ncmdc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/202|��/����/��� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
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x-morph=”OSHM:HTd/Acfsa” x-cantillationLevel=”1.1.0” ”strong=”3224|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/8034|�����/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”d/8145|���������/�� x-morph=”OSHM:HTd/Aofsa”
x-cantillationLevel=”1.0” ”strong=”7103|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/8034|�����/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”d/7992|�������������/�� x-morph=”OSHM:HTd/Aofsa” x-
cantillationLevel=”0.0” ”+strong=”7163|������ x-morph=”OSHM:HNp”
”strong=”7163|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
15 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”4672|��������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.0.0.0” ”strong=”802|��������
x-morph=”OSHM:HNcfpa” ”strong=”3303|������� x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1.0.0” ”strong=”k/1323|�������/��� x-morph=”OSHM:HR/Ncfpc”
”strong=”347|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
”strong=”1|����/����� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.0.0”
”strong=”5159|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”251|����/�����
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x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”� � 16 ”strong=”c/2421|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”347|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” strong=”310|�������� a” x-morph=”OSHM:HR”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.1” ”strong=”3967|������
x-morph=”OSHM:HAcbsa” ”strong=”c/705|������������/�� x-morph=”OSHM:HC/Acbpa”
x-cantillationLevel=”1.0” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/7200|���/� x-morph=”OSHM:HC/Vqw3ms”
x-wType=”x-ketiv” 149 ”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”1121
a” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
strong=”1121|�/������ a” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”702|����������� x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0”
”strong=”1755|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
17 ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”347|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”2205|������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”c/7649|�������/��
x-morph=”OSHM:HC/Aamsc” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”�

149+ ”strong=”c/7200|���������/�����/� x-morph=”OSHM:HC/Vqw3ms” x-
cantillationLevel=”0.1.1”


